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Question Number : 1 Question Id : 9767559014 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Arrange the given words in the sequence in which they occur in the dictionary.

1. RAILWAY
2. RAINBOW
3. RAISINS
4. RAILCAR
5. RALLIED

Options :

1.9 41235
2.% 42135
3.% 42315
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4. % 413,52

Question Number : 1 Question Id : 9767559014 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
few T wreal &1 39 o H A afRid I o 0 § 3 eI B g B

1. RAILWAY
2. RAINBOW
3. RAISINS
4. RAILCAR
5. RALLIED

Options :

1.¥41235
2. % 42135
3. % 4231,5
4. % 4,1,3,5,2

Question Number : 2 Question Id : 9767559015 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the missing term in the following series :

N6S, T9X, , F15H
Options :

1. % WI12D

2.% 712C

3. % Y11B

4. % WI11A

Question Number : 2 Question Id : 9767559015 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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N6S, T9X, , F15H
Options :

1. % WI2D

2.% 712C

3. % Y11B

4. % WIIlA

ersonal Exams Guide

Question Number : 3 Question Id : 9767559016 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that is related to the third term on the same basis as the second term is related to the first term.

EHK : ILO :: DQW : ?
Options :

1. % FSY

2. % GTZ

3. ¥ HUA

4. % IVB

Question Number : 3 Question Id : 9767559016 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

39 fAdHed BT 997 B S AR UG ¥ 341 UHR ¥ Yafid g fo JhR ¥ gHR1 UG Ugd Ug ¥ Hafed g

EHK : ILO :: DQW : ?
Options :

1. # FSY

2. % GTZ

3. % HUA

4. % 1VB
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Question Number : 4 Question Id : 9767559017 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that is related to the third term on the same basis as the second term is related to the first term.

Editor : Newspaper :: Chef : ?
Options :

1. ¥ Food

2. # Knife

3. % Kitchen

4. ¥ Taste

Question Number : 4 Question Id : 9767559017 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

39 faded &1 79 & S R U ¥ I TSR T Taifdrd 7 o IR I g¥R1 S Ugd Ue I Yefid g

T : THTERYS :: SIad] : 2
Options :

1. ¢ YoM

2. % TIp

3. % IR

4. ® Wlq

Question Number : 5 Question Id : 9767559018 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If NEST = 16, MISSION =49, SCHOOL = 36, then what will be the code for COLLEGE?
Options :

1. ¥ 49

2. % 42

3. % 54
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Question Number : 5 Question Id : 9767559018 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gfe NEST = 16, MISSION = 49, SCHOOL = 36 8, @ COLLEGE & foTT SIS &1 g2
Options :

1.9 49

2. % 42

3. % 54

4. % 35

Question Number : 6 Question Id : 9767559019 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If PALM is coded as UXQJ, then what is the code for MOCK?
Options :

1. ¥ ROHI

2. # RNKL

3. ¥ RMHK

4.« RLHH

Question Number : 6 Question Id : 9767559019 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gfe PALM &Y UXQJ & &0 H BIfSd fhar Tr 8, df MOCK & folt s arr 82
Options :

1. % ROHI

2. % RNKL

3. ¥ RMHK

4.+ RLHH
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Question Number : 7 Question Id : 9767559020 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Simran, Tarun, Usha, Vikash and Fatima are sitting on a bench. Fatima is between Tarun and Usha. Usha is to the left of Vikash who is not at the
end. Who is to the left of Simran?

Options :
1. # Usha
2. # Fatima
3. % Vikash

4. % Tarun

Question Number : 7 Question Id : 9767559020 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

R, a1, IuT, faTr 3R WIfaH U o9 IR 96 8 | BT, T907 3R S & &g H 931 81 I, faeerd & 918 3R 8 S SR W 81 5
R & T15 IR P §°

Options :

1. % 390

2. % WrfqHr

3. ¢ fapr

4. % T3]

Question Number : 8 Question Id : 9767559021 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A said to B, "You are my sister's son's father's mother-in-law." How is B related to A?
Options :

1. # B is the mother-in-law of A

2. % B is the daughter of A

3. % B is the mother of A

4. # B is the daughter-in-law of A
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Question Number : 8 Question Id : 9767559021 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A BY BT, "IHY AN T8 P o¢ & [UAT I AR E1" B, A T Y Haiferd g2
Options :

|.% B,ADIITT

2. % BADIIT

3.¥ B, ADI AT G

4. % B, A DI AIYT

Question Number : 9 Question Id : 9767559022 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Garima weighed six times as much as Charlie. Simran weighed five times as much as Binita. Nisha weighed twice as much as Simran. Charlie
weighed four times as much as Binita. Who weighs the least out of all?

Options :

1. # Charlie
2. % Simran
3. #* Nisha

4. ¥ Binita

Question Number : 9 Question Id : 9767559022 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TRHT BT IO DT & Ioi § B8 1 ¢ | RIRA &1 aoi af a1 & o I Uta A1 8 | =1 &1 g RERA & a9 § QA1 8 | 3Tl & aor
T S IR T 81 9 O O 9o &Y ao fha &1 g2

Options :
1. % 3t
2. % F{ORA
3. % f=m
4.  fatdn
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Question Number : 10 Question Id : 9767559023 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the question two statements are given, followed by two conclusions, I and II. You have to consider the statements to be true even if it seems to
be at variance from commonly known facts. You have to decide which of the given conclusions, if any, follows from the given statements.

Statement 1 : All dogs are cats.
Statement 2 : No cats are rats.

Conclusion I : No dogs are rats.
Conclusion II : Some cats are dogs.

Options :

1. # Only conclusion I follows
2. % Only conclusion II follows
3. % Both I and II follow

4. ® Neither I nor II follows

Question Number : 10 Question Id : 9767559023 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Uy § &) pY= feu U B, forges a1 gl fAssef [ 3R 11 fau 71U § 1 3imues! 39 SUAl &) et A1 7, Ha 81 I8 IrHaa: J1d 9 J e ueita
11 MU 7g fufg o 8 3 fow TTu el & & 19 a1, afe 1S g1, Ot fou e = & @ SrgeRur axar 8|

BT 1: it Pl St 81
Eﬁmz:ﬁéﬁc_vﬁa@ﬁ%l
ﬁﬁﬁﬁflﬁéﬁq\%’:@%l

st 11: $© fofeaal $a |
Options :

1. % Pad (spY | STER0I BT 8
2. % Had [SHY 11 IR0 HT §
3. ¥ 1 3R 11 GIFT AR % §
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Question Number : 11 Question Id : 9767559024 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In this question, a statement has been given, followed by two assumptions numbered I and II. Analyse the two assumptions together and
determine which of them is/are implicit in the statement.

Statement: It is dangerous to take out your hand from a moving bus.

Assumptions:
I. All those who take out their hand take the risk of being hurt.
II. People don't like to get hurt.

Options :

1. ¥ Only assumption I is implicit

2. % Only assumption II is implicit

3. % Neither assumption I nor assumption II is implicit

4. % Both the assumptions are implicit

Question Number : 11 Question Id : 9767559024 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A UY B, U Dy g1 71 7, I 16 &) shHifhd YRUME 1 3R 11 1 71 &1 SIFT YRUMai &1 e A1 fazamor &3 3R Fuffed &3 f
STH A P A1 A By E Afgd g

FYT: IAd] 99 I U1 E1Y SR b1 T 2|

YRUMU:
1. STl @R 3{UAT BTY §18R (opTad §, 3 UTad 819 1 SlifaH I31d 8 |
11. AN Y T N IaT Ue el o

Options :

|. ¢ Had yron | g §

2. % Pad YR 11 g

3. % 9 YROT 1 3R 7 8 yrRon 11 fAfigd 8
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Question Number : 12 Question Id : 9767559025 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Complete the following number series:
28, 35, 43, 52,

Options :
1. % 58
2.9 62
3. % 60
4. % 64

Question Number : 12 Question Id : 9767559025 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafeiad TRem Yaar & Q-1 &Y
28,35,43,52, |

Options :

1. % 58

2.9 62

3. % 60

4, % 64

Question Number : 13 Question Id : 9767559026 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the option that is related to the third number on the same basis as the second number is related to the first number.
12 :156 ::26:?

Options :

1. ¥ 702

2. % 650
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3. 23 506 Your Personal Exams Guide
4. % 552

Question Number : 13 Question Id : 9767559026 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3 e &1 997 Y S ) Te A S veR  Taifdrd § o v & gt T ugelt TRe @ Weitid 7

12:156::26:7?
Options :
1. ¥ 702
2. % 650
3. % 506
4. ® 552

Question Number : 14 Question Id : 9767559027 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The given Venn diagram shows the number of students who have passed in the three exams, English, History and Maths. How many students
have passed in only 2 exams?

History — A — English
()

— Maths

Options :
1.¥ 16
2. % 2]
3. % 34
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Question Number : 14 Question Id : 9767559027 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

%}Qéﬁ;ﬁﬂ@ﬁmwﬁmﬁmw%ﬁmuﬁm, 37t 3faeT SR 1org & S<fiof gu § 1 Fraa 2 adiensit & foam &=
gUg?

sfgra— (6) — S
878

— T

Options :
1.¥ 16
2. % 21
3. % 34
4. % 25

Question Number : 15 Question Id : 9767559028 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Akansha walks 7 km north, then turns west and walks 6 km, then turns south and walks 2 km, then turns west and walks 3 km, then turns to her
left and walks 5 km. Where is she now with respect to her starting position?

Options :

1. % 9 km west
2. % 9 km east
3. # 5km west
4. % 5km east
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Question Number : 15 Question Id : 9767559028 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TSI 7 km ITR B 3R Taa 7, fh Ui ) 3R gt § 3R 6 km el 7, TR Sfa0r &} 3R et 8 MR 2 km Tra<l! §, bR ufdm o)
3R g3t § 3R 3 km T B, AR ITDT 915 3R Y3t & 3R 5 km TS &1 30 TR Fufd & e H 319 98 Fgi 82

Options :

1. ¥ 9 km UfgH

2. % 9kmJd

3. % 5km A

4. % 5kmTd

Question Number : 16 Question Id : 9767559029 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Akul is driving his car. He drives 2.5 km in south direction, then makes a 45° turn to his left and drives for another 1.5 km, then makes a 180°
turn to his right and goes 2 km. In which direction is he driving now?

Options :

1. # south-east
2. # south-west
3. ¥ north-west

4. % north-east

Question Number : 16 Question Id : 9767559029 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3G U HR I &1 & | T8 SIar0r f[G=M H 2.5 km AT &, FHR ST T12 37K 45° ST § 3R T 3R 1.5 km T &, fBR 310 15
3R 180° ST § 3R 2 km ST 5 | 319 98 [y feun § SR a1 @1 82

Options :

1. % cfgogd

2. % TIEULUiEy

3. ¥ IWR-UigH
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Question Number : 17 Question Id : 9767559030 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following answer figure completes the series of the question figure?

# @|@ x| x 2
ol e S|+ + | # ?
# |+ $| # ol I "
3 x| # i@ #
Options :
¥ #
#19
&
Lo LX @
# X
#19
<&
2'%@ +
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3. % X #
X #

$

#1+
4% LE @

Question Number : 17 Question Id : 9767559030 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fgfeiyd o Q@ &9 T SR S U 3B B Y[a B g1 Bl 82

#

L]

&

@

@

€7

A

X

Options :

prepp

Your Personal Exams Guide
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+ #
#1193
&
Lo LX @
# X
#19
O
2.%@ +
v @
# |-
3
3. % LX #
X #
b
#1+
4. % L= @
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Question Number : 18 Question Id : 9767559031 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option """~ =
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following options is the wrong figure in the series?

*
*
*
*
* %

* *
* %

A B

Options :

1. #® Image A
2. ® Image B
3. # Image C
4. ¥ Image D

(@
O

Question Number : 18 Question Id : 9767559031 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiead & @ &1 91 fadwed yaar # Tad i g2

* Ak Kk
* A W

A B C D

Options :

1. % BTA
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3. % 3fdc
4.+ BfdD

Question Number : 19 Question Id : 9767559032 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following cube in the answer figure cannot be made based on the unfolded cube in the question figure?

Ok ||| *

Options :

2. 8
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Question Number : 19 Question Id : 9767559032 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ty 3BT J o I8! HIST 31T (3 Bicss ) U ST 71T § 3BT SUURT B & ITR AP aTl BT U Ta| ST off Fehall?

OF ||| *

Options :

*




www.prepp.in prepp

Your Personal Exams Guide

‘ O
Illﬂﬁ
ol

Question Number : 20 Question Id : 9767559033 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
How many squares are there in the following question figure?
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Options :
1.9 14
2.%9
3. % 10
4. % 12

Question Number : 20 Question Id : 9767559033 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafad uy A fpaa i g?

Options :
1.v 14
2.%9
3.% 10
4. % 12
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General Awareness

Group Number : 2

Group Id : 976755227
Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 20

Is this Group for Examiner? : No

General Awareness

Section Id : 976755520
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 976755625
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 9767559034 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Perini dance form is performed while worshipping Lord
Options :

1. #* Rama
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2. % Shiva
3. * Indra
4. % Ganesha

Question Number : 21 Question Id : 9767559034 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SOCIE] 1 ST B THY URA T &0 HT U&= 61 STt 5|
Options :

1. # XMH

2. ¢ 9

3. % 3%

4. % IO

Question Number : 22 Question Id : 9767559035 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Saga Dawa festival is associated with which of the following states?
Options :

1. # Uttar Pradesh

2. % Tamil Nadu

3. * Punjab

4, ¢ Sikkim

Question Number : 22 Question Id : 9767559035 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafoied o 9 ford I T 91T a1d e ¥ 93T 62
Options :

1. % WU

2. % qferd g
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Question Number : 23 Question Id : 9767559036 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Presenting the Union Budget for 2021-22, Finance Minister Nirmala Sitharaman said that the Budget proposals reston  pillars.
Options :

1. % 4

2.% 5

3.6

4, % 7

Question Number : 23 Question Id : 9767559036 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

2021-22 & foTT Het SoTe U HRd gL, faau<l e SaRm A dgi fbsoie . WHi R uarfad g
Options :

1. % 4

2.% 5

3.6

4. %7

Question Number : 24 Question Id : 9767559037 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Reserve Bank of India was permanently moved to Mumbai in
Options :

1. % 1932

2. % 1940

3. % 1935

4.+ 1937
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Question Number : 24 Question Id : 9767559037 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR Rerd o & wrft w0 A e o RyFaRd far mar |
Options :

1. % 1932

2. % 1940

3. % 1935

4. % 1937

Question Number : 25 Question Id : 9767559038 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the common name of Myocardial infarction?
Options :

1. # Plague

2. % Rabies

3. ¥ Leprosy

4. ¥ Heart Attack

Question Number : 25 Question Id : 9767559038 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
AT T FTHT ATH FT 82

Options :

1. % T

2. % dlel

3. % I

4. ¢ gaUrdid
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Question Number : 26 Question Id : 9767559039 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option """ 7™
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Modern Periodic Law states —Properties of elements are a periodic function of their
Options :

1. ¥ atomic number

2. # mass number

3. % valency

4. % mole

Question Number : 26 Question Id : 9767559039 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

MY 3MTad faw sarar g f aal & Turesd 396 T 3MTad Ba ¢ |
Options :

1. ¢ URHIY] ShHIH

2. % GoUHM BT

3. % YT

4. % T

Question Number : 27 Question Id : 9767559040 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Members of phylum are commonly known as sponges.
Options :

1. # Ctenophora

2. % Platyhelminthes

3. ¥ Porifera

4. % Coelenterata

Question Number : 27 Question Id : 9767559040 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
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Correct Marks : 1 Wrong Marks : 0.25

Y & G I THIR TR Tl P =1H J ST STl gl

Options :

1. % CHIBRI

2. % WICTRIHRN
3. ¢ ORI

4. % f¥de¥er

Question Number : 28 Question Id : 9767559041 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following ranges is also known as the Outer Himalayas?
Options :

1. % Zaskar

2. % Aravalli

3. ¥ Shiwalik

4. # Pir Panjal

Question Number : 28 Question Id : 9767559041 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofaied # © fg gdauTa ! sl feHad & =19 ¥ +ff S el 82
Options :

1. #® SIRMY

2. % 3RITC

3. ¢ fRrafere

4. % UR Golre

Question Number : 29 Question Id : 9767559042 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Which among the following is not a tributary of Mahanadi?
Options :

1. # Ong

2. % Tel

3. % Hasdeo

4. ¥ Banas

Question Number : 29 Question Id : 9767559042 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofefad & @ o O 7gHe &1 IuAe! T8l 82

Options :
1. % 3ffT
2. % dd
3. % gUad

4. ¢ 919

Question Number : 30 Question Id : 9767559043 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Jawahar Rozgar Yojna was renamed on 1st April 1999 as

Options :

1. ¥ Jawahar Gram Samriddhi Yojana

2. # Integrated Rural Development Programme
3. # National Rural Employment Programme

4. ® Rural Landless Employment Guarantee Programme

Question Number : 30 Question Id : 9767559043 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SIATER ISR TSI BT TH JeaHbR 1 30 1999 B fomar |

Options :
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1. ¢ SaTeR 919 qgfg aroH

2. % THigd ATHU f[ah ™ HRiHH

3. % PTG JHIT AR BHRIshH

4. % ZrHior YfEH ASHIR TR HriHH

Question Number : 31 Question Id : 9767559044 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The first capital of the Gupta empire was located at
Options :

1. # Rajgir

2. % Taxila

3. % Ujjain

4. ¥ Pataliputra

Question Number : 31 Question Id : 9767559044 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
o YT Dt Uga! AT T fRyq ot
Options :

1. % AR

Question Number : 32 Question Id : 9767559045 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
When was the Battle of Buxar fought?
Options :

1. % 1768
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2. 23 1758 ersonal Exams Guide
3. ¥ 1764
4. % 1760

Question Number : 32 Question Id : 9767559045 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TR DT g D d ST ITIT YT?

Options :

1. % 1768

2. % 1758

3. ¥ 1764

4. % 1760

Question Number : 33 Question Id : 9767559046 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
was the first Indian to become a Member of the British House of Commons.

Options :

1. ¥ Gopal Krishna Gokhale
2. ¥ Dadabhai Naoroji

3. # Surendranath Banerjee
4. ® Subhash Chandra Bose

Question Number : 33 Question Id : 9767559046 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fSfew 8199 31 ST &1 Y™ §-91 dId Ugd YR |

Options :
1. % TUT H0T TRae
2. ¢ IGTHTS RIS
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Question Number : 34 Question Id : 9767559047 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the real name of Yogi Adityanath?
Options :

1. ¥ Raghupati Sahay

2. % Jaswant Rai Sharma

3. # Dhanpat Rai

4. ¥ Ajay Singh Bisht

Question Number : 34 Question Id : 9767559047 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
anft enfecTy o1 arafae 14 1 82
Options :

1. % Igufd ¥gr™

2. % Sydd I THf

3. % YAUdRM™

4. ¢ 3oy g fay

Question Number : 35 Question Id : 9767559048 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The Secret of the Nagas' is written by
Options :

1. ® Anita Desai

2. ® Amitav Ghosh

3. ¥ Amish Tripathi
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4. ®# Amit Chaudhuri

Question Number : 35 Question Id : 9767559048 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

< Tigpe 311t g AT gR foreft 712 B
Options :

1. % 3ffidT ¢urg

2. % JHAY Uy

3. ¢ 3 BTt

4. % 3T ML

Question Number : 36 Question Id : 9767559049 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
won the 65th Filmfare Awards 2020 in the 'Critics Best Film' category.

Options :

1. # Gully Boy

2. ¥ Article 15

3. % Kabir Singh

4. ® Saand ki Aankh

Question Number : 36 Question Id : 9767559049 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3 3fTaa® (fheid) a9y e 9uft & 65af flFehaRk RIBR 2020 STl

Options :

1. % e 919
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Question Number : 37 Question Id : 9767559050 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

21st Constitutional Amendment included Sindhi as language in the Eighth Schedule.
Options :

1. # 12th

2. % 15th

3. % 16th

4. % 19th

Question Number : 37 Question Id : 9767559050 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

219 GauTe TNy & Rieh &t omedf el & yToT & =0 § =i fovar
Options :

1. % 124t

2. ¢ 150

3. % 16dl

4. % 19d1

Question Number : 38 Question Id : 9767559051 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following schedules in the Indian Constitution contains provisions as to validation of certain Acts and Regulations?
Options :

1. ¥ Ninth

2. % Eighth

3. # Eleventh

4. # Tenth

Question Number : 38 Question Id : 9767559051 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
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Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

RISy § FRafafed 3 @ frd s 8 oo sififaomt ok fafamt & g & g 82
Options :

1. ¢ gt

2. % 33al

3. % TRgdr

4. % g4

Question Number : 39 Question Id : 9767559052 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following countries will host the 2022 Winter Olympics?
Options :

1. # France

2. # Japan

3. % China

4. % England

Question Number : 39 Question Id : 9767559052 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e & & o 91 <=1 2022 & T RIS B AeaF B
Options :

1. % Y

2. % N4

3.¢ dH

4. % U8

Question Number : 40 Question Id : 9767559053 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
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Correct Marks : 1 Wrong Marks : 0.25
team has the record of the highest innings total in One-Day Cricket Internationals as of February 2021.

Options :

1. ¥ England

2. % Sri Lanka

3. # South Africa
4. % Australia

Question Number : 40 Question Id : 9767559053 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

& & U TR 2021 T T feadiid SiaRigha fobobe & Iwaad $el Ul &1 Rapis o

Options :

1. ¥ QU8

2. % et

3. % &[T 3T
4. % 3freefer

~

Arithmetic Ability

Group Number : 3

Group Id : 976755228
Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 20

Is this Group for Examiner? : No
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Section Id : 976755521
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 976755626
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 9767559054 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is equal to 40000 % 0.0001?
Options :

1. % 04

2.9 4

3. % 40

4. % 400

Question Number : 41 Question Id : 9767559054 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faferiRad & ¥ &9 T1 40000 x 0.0001 F RIS 2
Options :

1. % 04

2.9 4

3. % 40

4. % 400
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Question Number : 42 Question Id : 9767559055 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Simplify:-

(22/7)x 14 - 5+ 10 percent of 4250 + 20 ~ 4
Options :

1. ¥ 469

2. % 460

3. % 475

4. % 500

Question Number : 42 Question Id : 9767559055 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
WRAPHd PR

(22/7)x 14 - 5+ 10 percent of 4250 + 20 ~ 4
Options :

1. ¥ 469

2. % 460

3. % 475
4. % 500

Question Number : 43 Question Id : 9767559056 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the least three digit number divisible by 3?
Options :

1.4 102

2. % 101

3. % 104

4. % 108
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Question Number : 43 Question Id : 9767559056 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A dIF 3fh! ! T-T a1 g S 3 ¥ faursT 82
Options :

1. ¥ 102

2. %101

3. % 104

4. % 108

Question Number : 44 Question Id : 9767559057 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The number 7nn71 is divisible by both 3 and 7. What is the value of n?
Options :

1. %5

2.6

3.% 2

4. % 1

Question Number : 44 Question Id : 9767559057 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AT 7on71, 3 3R 7 &I Y fIHIST B 1 n &1 HH T 52
Options :

1. %5

2.6

3.%2

4. % 1
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Question Number : 45 Question Id : 9767559058 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the minimum number which needs to be added to 3000, so as to get zero remainder when divided by 3, 7 and 11 respectively?
Options :

1. %2

2.9 3

3.% 7

4. % 11

Question Number : 45 Question Id : 9767559058 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TATH TR 1§ SR 3000 H SST ST 1T B, Al HHRT: 3, 7 3R 11 AU 81 WR R A9Hd U g1 Th?
Options :

1. %2

2.¥ 3

3.% 7

4. % 11

Question Number : 46 Question Id : 9767559059 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The average of 5, 6, 9 and x is 6. What is x?
Options :

1.¥ 4

2.% 3

3.9

4. % 10

Question Number : 46 Question Id : 9767559059 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
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Correct Marks : 1 Wrong Marks : 0.25
5, 6,9 3R x BT A 651 x FT?
Options :

1.¥4

2.%3

3.%9

4. % 10

Question Number : 47 Question Id : 9767559060 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In an examination, Reshma secured 180 out of 600. Had she secured 25 percent more, she would have passed. What is the pass percentage of
marks in the examination?

Options :

1. # 35 percent
2. % 37.5 percent
3. % 20 percent
4. % 40 percent

Question Number : 47 Question Id : 9767559060 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS GRI&T H, I 600 T ¥ 180 3 T fohu | Tfe I 25 Ufa=ra 3ifeies Ui fort gid, < a8 ST &1 Sffelt | URiem o 3! &1 3ol
gfa=rd & 82

Options :

1. % 35 gfa=rd

2. ¢ 37.5 Ufa=d

3. % 20 gfa=rd

4. % 40 gfaerd

Question Number : 48 Question Id : 9767559061 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

uide
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Correct Marks : 1 Wrong Marks : 0.25 reonalxams Gude

A father split his wealth between two sons A and B such that B got Rs 30 lakhs more than A. The amount that A received was 25 percent of the
overall wealth. How much did each A and B receive (in Rs)?

Options :

1. % 15 lakhs, 45 lakhs
2. % 30 lakhs, 45 lakhs
3. % 60 lakhs, 100 lakhs
4. % 10 lakhs, 40 lakhs

Question Number : 48 Question Id : 9767559061 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T fUdT = 3O Uil &1 &) 9t A 3R B & o9 39 a8 diel, oY b B &1 A ¥ 30 TR 39T TS U 311 A DI S M U g8 98 T
T Tt &1 25 Ufawrd At U A 3R B & (JUU H) a1 o gam

Options :

1. % 15714, 45 <9
2. % 30 dRd, 45 G
3. % 60 A4, 100 <TG
4. % 10 dRd, 40 A

Question Number : 49 Question Id : 9767559062 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the profit percentage if an item bought at Rs 9000 and sold at Rs 108007
Options :

1. ¥ 20 percent

2. % 25 percent

3. # 15 percent

4. % 12 percent

Question Number : 49 Question Id : 9767559062 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
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Correct Marks : 1 Wrong Marks : 0.25

fe fopelt a%g 1 9000 TUT H WRIGT 74T 3R 10800 AT H o1 7T Al 1 Ifi=Td oRT &2
Options :

1. ¢ 20 fd=rd

2. % 25 Yfd=rd

3. % 15 gfcRrd

4. % 12 gfd=rd

Question Number : 50 Question Id : 9767559063 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What must be added to 11, 17 and 26 such that they are in continued proportion?
Options :

1.9 1

2. % 2

3.%5

4, % 3

Question Number : 50 Question Id : 9767559063 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

11, 17 3R 26 T &7 SIIST ST 91T dTfs o fFARaR 3rurd | g1
Options :

1.¥ 1

2. %2

3.%5

4, % 3

Question Number : 51 Question Id : 9767559064 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The age of Mia and Sia is in the ratio 5 : 7. Five years later, this ratio becomes 10 : 13. What will be their age ratio 3 years hence?
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Options :

1. % 13:15
2.9 23:29
3. % 23:25
4, % 13:29

Question Number : 51 Question Id : 9767559064 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

foram 3Tk R &1 3y 5 : 7 % U & & | Ui oy 91, I 3UTd 10 : 13 B ST 8 | 37, 3 T §1G ST 3 HT SUTd T G2
Options :

1. % 13:15

2.%23:29

3. % 23:25

4. % 13:29

Question Number : 52 Question Id : 9767559065 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

P and Q are 500 km apart. If they start travelling towards each other at a speed of 15 kmph and 25 kmph respectively, in how many hours will
they meet?

Options :
1. % 18
2.9 125
3.% 12
4. % 10

Question Number : 52 Question Id : 9767559065 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
P 3R Q 500 km &1 gl TR § | TG o HHRT: 15 kmph 3TR 25 kmph T 7T T Th-GER B 3R 3T & B g, A1 9 foba b¢ H el

Options :
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1. * 18
2.¥12.5
3.% 12
4. %10

Question Number : 53 Question Id : 9767559066 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A thief ran away from a crime scene at a speed of 40kmph. Twenty minutes later, a cop chases him at a speed of 60kmph. How long will it take
for the cop to catch the thief?

Options :

1. # 45 minutes
2. # 30 minutes
3. % 40 minutes

4. % 20 minutes

Question Number : 53 Question Id : 9767559066 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T IR 40 kmph 1 Tid F SORTY RIS J HIT 71| o1 AT 91, Th Gferd dTe | 60 kmph D1 Tfd J IHh1 GST fbaT| IR & Ube H
gferd &l foamT 99g aim

Options :

1. % 45f0Fc
2. % 30 fiAe
3. 40 fiFC
4. % 20 e

Question Number : 54 Question Id : 9767559067 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A is twice as efficient as B. If B takes 90 minutes to complete a piece of work, what will be the time taken by A to do the same?
Options :
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1. ®¥ 60 min
2. # 50 min
3. # 30 min
4. % 45 min

Question Number : 54 Question Id : 9767559067 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A, B AT T ¢ | Al B B Teb BTH TR 3 | 90 fie A7 &, dl A &1 It 1A B § foraTT I9g i
Options :

1. % 60 fire

2. % 50 e

3. % 30 e

4.+ 45 e

Question Number : 55 Question Id : 9767559068 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A sphere has the same diameter as a circle of circumference 44 cm. What is the total surface area of the sphere?
Options :

1. # 540 sq cm

2.9 616 sqcm

3. # 600 sq cm

4. % 490 sq cm

Question Number : 55 Question Id : 9767559068 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS TIIel T ST 44 cm B URTY P I P SRR & | N BT H YYIT S0l o1 82
Options :

1. # 540 sqcm
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2. % 616 sqcm
3. % 600 sq cm
4. % 490 sq cm

Question Number : 56 Question Id : 9767559069 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A cube has edge of length 7 cm. If a cone of radius 7 cm and height 6 cm is to be scooped out of it, what is the remaining volume of the cube?
Options :

1. ¥ 35cucm

2. % 49 cucm

3. % 14 cucm

4, % 54 cucm

Question Number : 56 Question Id : 9767559069 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP T & R B AdTs 7 cm 81 (G 7 om BT 3R 6 cm TS & AP B SH § (BT €, 0 G- BT AN I F1 82
Options :

1. ¥ 35cucm

2. % 49 cucm

3. % 14 cucm

4, % 54 cucm

Question Number : 57 Question Id : 9767559070 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Study the table and answer the following question.
What is the approximate average number of girls from 2018 to 2020?
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STUDENTS DATA
YEAR TOTAL BOYS GIRLS
2018 118 60 ot
2019 120 50 70
2020 100 50 Lo
Options :
1. ¥ 59
2. %50
3. % 60
4. % 75

Question Number : 57 Question Id : 9767559070 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TfeTehT T 31emT Y 3R Fafafad Uy &1 S |
2018 ¥ 2020 TP TSB! B STAT ST TS T 82

o B =¢1

58

J018 118

3010 120 70

S |8 |8

50

2020 100

Options :
1. ¥ 59
2. %50
3. % 60
4. % 75

Question Number : 58 Question Id : 9767559071 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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The following pie chart shows the distribution of students in different specialisations in Graduation. fourrerenatams cuise
What percent of the total number of students in Graduation takes up either Geology or Physics?

Graduation

Options :

1. # 20 percent
2. % 15 percent
3. ¥ 35 percent
4. % 12 percent

Question Number : 58 Question Id : 9767559071 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiRad urg aré wrae o faftr faivmar & st & fadrur & gxfar 2|
AdS § SHI B Hol G- BT fohaT1 Ufa=rd a1 df Yfa7 a1 ifces! aar g2
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Options :

1. % 20 gfcrd
2. % 15 gfard
3. ¢ 35 Ufard
4. % 12 gfaerd

Question Number : 59 Question Id : 9767559072 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The following graph gives the details of exports and imports in Rs lakhs.
Which year has seen the highest import to export ratio?
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:

Export And Import
-8 88888 8

2017

B Export

2018

¥ Import

Year

1350

2019

2020

Options :
1. % 2017
2. % 2018
3. %2019
4. v 2020

Question Number : 59 Question Id : 9767559072 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

fRaferRad e ara vuu & Fafd ok smard &1 faer Ear g |

T adf & smara & fafd sruTd walfie gamg?

prepp

Your Personal Exams Guide
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= fafa

100

1200

1000

ferafa i smama

- 8 8§ 8 8

2017 2018

= 3TTd

2019 2020

Options :
1. % 2017
2. #2018
3. %2019
4. ¥ 2020

Question Number : 60 Question Id : 9767559073 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

prepp

Your Personal Exams Guide

The bar graph below summarizes the investments (in Rs) made by companies A, B and C over the years. From the graph, which of the companies

has seen the highest fall in investment over any two consecutive years? Calculate the percentage of decline.
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00000 -

300000 -

Investments

100000 -

2015

700000

B Company A

2016

¥ CompanyB

BO00OD

Year

330000

450000

2017

W CompanyC

2018

Options :

1. ¥ C, 50 percent
2. % C, 100 percent
3. % (C, 40 percent

4. % B, 50 percent

prepp

Your Personal Exams Guide

Question Number : 60 Question Id : 9767559073 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

! fear mn IR I S 6 auf & U A, B 3R ¢ gRT fpu e e (Fuu #) & IRIRG HRd1 81 T 3, {6 Hufat A amar &

aut & fFow & ge9 &mﬁma'd%@%v fRTae % YTTd &1 7T B3 |
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300000 -

100000 -~

2015

700000

B HYH A

2016
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450000

2017

= HUHL ¢

450000

2018

Your rersojal Exams Guide

Options :

1.+ C, 50 gfa=ra
2. % C, 100 gfa=rd
3. % C, 40 Ufaerd
4. % B, 50 Ufa2rd

Group Number :
Group Id :

Group Maximum Duration :

Group Minimum Duration :

General English

4
976755229
0
0
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Group Marks : 20

Is this Group for Examiner? : No

English Language & Comprehension

Section Id : 976755522
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 16
Number of Questions to be attempted : 16

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 976755627
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 9767559074 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

Amidst the tightening COVID- 19 lockdown, / a public transport scenario is assumed / to be dire over the next few days.
Options :

1. % Amidst the tightening COVID- 19 lockdown,

2. % a public transport scenario is assumed

3. % to be dire over the next few days.

4. % No error
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Question Number : 61 Question Id : 9767559074 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option *" ™"
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

Amidst the tightening COVID- 19 lockdown, / a public transport scenario is assumed / to be dire over the next few days.
Options :

1. % Amidst the tightening COVID- 19 lockdown,

2. % a public transport scenario is assumed

3. % to be dire over the next few days.

4. % No error

Question Number : 62 Question Id : 9767559075 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

The dues consisted of / profits made by British / capital invest in India.
Options :

1. # The dues consisted of

2. # profits made by the British

3. ¥ capital invest in India.

4. ® No error

Question Number : 62 Question Id : 9767559075 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

The dues consisted of / profits made by British / capital invest in India.
Options :
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1. # The dues consisted of
2. # profits made by British
3. ¢ capital invest in India.
4. % No error

Question Number : 63 Question Id : 9767559076 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

They are (habitual) to the organisers of the Sunburn 2020.
Options :

1. ¥ apathetic

2. % heuristic

3. # empathetic

4. ® no correction required

Question Number : 63 Question Id : 9767559076 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

They are (habitual) to the organisers of the Sunburn 2020.
Options :

1. ¢ apathetic

2. # heuristic

3. # empathetic

4. % no correction required

Question Number : 64 Question Id : 9767559077 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
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Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

Children are born innumerate, illiterate and ignorant to the norms and cultural achievements of the community or society into which they have
been (thrust).

Options :

1. # inbred
2. ¥ actuated
3. ® fed

4. # no correction required

Question Number : 64 Question Id : 9767559077 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

Children are born innumerate, illiterate and ignorant to the norms and cultural achievements of the community or society into which they have
been (thrust).

Options :

1. # inbred
2. ¥ actuated
3. ® fed

4. ® no correction required

Question Number : 65 Question Id : 9767559078 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the appropriate word.

How I wish I could go back to a between Mahatma Gandhi and Jawaharlal Nehru.

Options :
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1. # assurance
2. ¥ conversation
3. % backdrop
4. % obstinacy

Question Number : 65 Question Id : 9767559078 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the appropriate word.

How I wish I could go back to a between Mahatma Gandhi and Jawaharlal Nehru.

Options :

1. ® assurance

2. % conversation
3. # backdrop

4. ® obstinacy

Question Number : 66 Question Id : 9767559079 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the appropriate word.

Death is and the passing of such a great rationale is always sorrowful.
Options :

1. #® impeccable

2. % assured

3. ¥ inevitable

4. ® ignominious

Question Number : 66 Question Id : 9767559079 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the appropriate word.
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Death is and the passing of such a great rationale is always sorrowful.
Options :

1. # impeccable

2. # assured

3. % inevitable

4. # ignominious

Question Number : 67 Question Id : 9767559080 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the option that gives the correct sequence in which these parts
can be rearranged to form a meaningful and grammatically correct sentence.

Mesopotamia encompasses

P: head waters in

Q: both of which have their
R: the land between

S: Euphrates and Tigris rivers,
Taurus Mountains.

Options :

1. # RQPS
2. ¥ RSQP
3. ¥ SPRQ
4. % QPSR

Question Number : 67 Question Id : 9767559080 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the option that gives the correct sequence in which these parts
can be rearranged to form a meaningful and grammatically correct sentence.

Mesopotamia encompasses
P: head waters in
Q: both of which have their
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R: the land between Yourersonalfxams Guid
S: Euphrates and Tigris rivers,
Taurus Mountains.

Options :

1. % RQPS
2. % RSQP
3. ¥ SPRQ
4. % QPSR

Question Number : 68 Question Id : 9767559081 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the option that gives the correct sequence in which these parts
can be rearranged to form a meaningful and grammatically correct sentence.

Nearly perfect

P: the sun, has an internal convective motion
Q: sphere of hot plasma,

R: magnetic field via a

S: that generates a

dynamo process.

Options :

1. % SPRQ
2. % RSPQ
3. ¥ QRSP
4, ¥ QPSR

Question Number : 68 Question Id : 9767559081 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the option that gives the correct sequence in which these parts
can be rearranged to form a meaningful and grammatically correct sentence.

Nearly perfect
P: the sun, has an internal convective motion



www.prepp.in prepp

Your Personal Exams Guide

Q: sphere of hot plasma,
R: magnetic field via a
S: that generates a
dynamo process.

Options :

1. # SPRQ
2. % RSPQ
3. # QRSP
4. ¥ QPSR

Question Number : 69 Question Id : 9767559082 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word that is closest in meaning (SYNONYM) to the word given below
INDIGENOUS

Options :

1. # CONTRAVENE
2. # VIOLATION

3. # WASTEFUL

4. ¥ ABORIGINAL

Question Number : 69 Question Id : 9767559082 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word that is closest in meaning (SYNONYM) to the word given below
INDIGENOUS

Options :

1. # CONTRAVENE
2. # VIOLATION

3. # WASTEFUL

4. ¥ ABORIGINAL

Question Number : 70 Question Id : 9767559083 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
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Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Select the word that is the opposite meaning (ANTONYM) to the word given below.

ESCALATION
Options :

1. ¥ RAPID

2. ¥ SHRINK

3. % INCREASE
4. % AMPLIFY

Question Number : 70 Question Id : 9767559083 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is the opposite meaning (ANTONYM) to the word given below.

ESCALATION
Options :

1. ¥ RAPID

2. ¥ SHRINK

3. % INCREASE
4. % AMPLIFY

Question Number : 71 Question Id : 9767559084 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. ¥ ITINERARY

2. ® ITINERY

3. % ITNERY

4. % ITENERARY
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Question Number : 71 Question Id : 9767559084 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. ¥ ITINERARY

2. # ITINERY

3. # ITNERY

4. ¥ ITENERARY

Question Number : 72 Question Id : 9767559085 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which one is correctly spelt. Select the word that is correctly spelt as per standard English dictionary.
Options :

1. % Groteqsue

2. # Metapher

3. % Garrulous

4. % Superintendant

Question Number : 72 Question Id : 9767559085 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which one is correctly spelt. Select the word that is correctly spelt as per standard English dictionary.
Options :

1. # Groteqsue

2. ¥ Metapher

3. ¥ Garrulous

4. # Superintendant

Question Number : 73 Question Id : 9767559086 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
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Correct Marks : 1 Wrong Marks : 0.25 fourrersenaltrams e
Select the most appropriate meaning of the given idiom

"Elephant in a room"

Options :

1. #® Do not put all your resources in one possibility.

2. # Cannot judge something primarily on appearance.
3. # The person we were just talking about, showed up.

4. ¥ An obvious problem or difficult that people do not want to talk about.

Question Number : 73 Question Id : 9767559086 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom

"Elephant in a room"

Options :

1. # Do not put all your resources in one possibility.

2. # Cannot judge something primarily on appearance.
3. % The person we were just talking about, showed up.

4. ¥ An obvious problem or difficult that people do not want to talk about.

Question Number : 74 Question Id : 9767559087 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom.

"A bitter pill"

Options :

1. # To have a snitch as a companion.

2. % An embarrassing situation which may point to a sexual intent.

3. ¥ A situation or information that is unpleasant but must be accepted.

4. # Being forced into doing something one does not wish to.
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Question Number : 74 Question Id : 9767559087 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom.

"A bitter pill"

Options :

1. % To have a snitch as a companion.

2. % An embarrassing situation which may point to a sexual intent.

3. ¥ A situation or information that is unpleasant but must be accepted.

4. ® Being forced into doing something one does not wish to.

Question Number : 75 Question Id : 9767559088 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word ' for the expression given below.

Feeling of revulsion or strong disapproval aroused by something unpleasant or offensive.
Options :

1. ¢ Disgust

2. % Disguise

3. # Vengeance

4. % Imposture

Question Number : 75 Question Id : 9767559088 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word ' for the expression given below.

Feeling of revulsion or strong disapproval aroused by something unpleasant or offensive.
Options :
1. ¥ Disgust
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2. % Disguise
3. ¥ Vengeance

4. # Imposture

Sub-Section Number : 2
Sub-Section Id : 976755628
Question Shuffling Allowed : Yes

Question Id : 9767559089 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No
Question Numbers : (76 to 80)

A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four
alternatives.

I have drawn the distinction between passive resistance as understood and practised in the West and satyagraha before I had evolved the doctrine
of the latter to its full logical and spiritual extent. I often used “passive resistance” and “satyagraha” as synonymous terms: but as the doctrine of
satyagraha developed, the expression “passive resistance” ceases even to be synonymous, as passive resistance has admitted of violence as in the
case of the suffragettes and has been universally acknowledged to be a weapon of the weak. Moreover, passive resistance does not necessarily
involve complete adherence to truth under every circumstance. Therefore it is different from satyagraha in three essentials: Satyagraha is a
weapon of the strong; it admits of no violence under any circumstance whatsoever; and it ever insists upon truth.

The essence of satyagraha is that it seeks to eliminate antagonisms without harming the antagonists themselves, as opposed to violent resistance,
which is meant to cause harm to the antagonist. A satyagrahi therefore does not seek to end or destroy the relationship with the antagonist, but
instead seeks to transform or "purify" it to a higher level. A euphemism sometimes used for satyagraha is that it is a "silent force" or a "soul
force" (a term also used by Martin Luther King Jr. during his famous "I Have a Dream" speech). It arms the individual with moral power rather
than physical power. Satyagraha is also termed a "universal force," as it essentially "makes no distinction between kinsmen and strangers, young
and old, man and woman, friend and foe.

Sub questions

Question Number : 76 Question Id : 9767559090 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What does satyagrah seek to eliminate?
Options :

1. # Antagonism & antagonists

2. # antagonists

3. % antagonism without harming antagonist
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4. % relationship with antagonist

Question Number : 77 Question Id : 9767559091 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not used for satyagrah?
Options :

1. ¥ Universal force

2. ¥ inner force

3. # silent force

4. % gsoul force

Question Number : 78 Question Id : 9767559092 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is correct?

Options :

1. ¥ A satyagrahi seeks to purify the antagonist.

2. # Violent resistance seeks to eliminate antagonism.
3. # Euphemism for satyagrah is a silent soul.

4. % Satyagrah is a weapon of weak.

Question Number : 79 Question Id : 9767559093 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
As per passage, 'satyagraha' arms an individual with than
Options :

1. # physical power; moral power
2. # physical power; mental power
3. # mental power; physical power

4. ¥ moral power; physical power

Question Number : 80 Question Id : 9767559094 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
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Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Why is 'satyagraha' also termed as universal force sometimes?

Options :

1. ¢ it essentially "makes no distinction between kinsmen and strangers, young and old, man and woman, friend and foe
2. # it essentially differentiates between kinsmen and strangers, young and old, man and woman, friend and foe

3. # it essentially differentiates between kinsmen and strangers, but does not differentiate between young and old, man and woman, friend and
foe

4. % it essentially "makes limited distinction between kinsmen and strangers, young and old, man and woman, friend and foe

Question Id : 9767559089 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No
Question Numbers : (76 to 80)

A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four
alternatives.

I have drawn the distinction between passive resistance as understood and practised in the West and satyagraha before I had evolved the doctrine
of the latter to its full logical and spiritual extent. I often used “passive resistance” and “satyagraha” as synonymous terms: but as the doctrine of
satyagraha developed, the expression “passive resistance” ceases even to be synonymous, as passive resistance has admitted of violence as in the
case of the suffragettes and has been universally acknowledged to be a weapon of the weak. Moreover, passive resistance does not necessarily
involve complete adherence to truth under every circumstance. Therefore it is different from satyagraha in three essentials: Satyagraha is a
weapon of the strong; it admits of no violence under any circumstance whatsoever; and it ever insists upon truth.

The essence of satyagraha is that it seeks to eliminate antagonisms without harming the antagonists themselves, as opposed to violent resistance,
which is meant to cause harm to the antagonist. A satyagrahi therefore does not seek to end or destroy the relationship with the antagonist, but
instead seeks to transform or "purify" it to a higher level. A euphemism sometimes used for satyagraha is that it is a "silent force" or a "soul
force" (a term also used by Martin Luther King Jr. during his famous "I Have a Dream" speech). It arms the individual with moral power rather
than physical power. Satyagraha is also termed a "universal force," as it essentially "makes no distinction between kinsmen and strangers, young
and old, man and woman, friend and foe.

Sub questions

Question Number : 76 Question Id : 9767559090 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What does satyagrah seek to eliminate?
Options :
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1. ¥ Antagonism & antagonists
2. % antagonists
3. ¥ antagonism without harming antagonist

4. ® relationship with antagonist

Question Number : 77 Question Id : 9767559091 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not used for satyagrah?
Options :

1. #® Universal force

2. ¥ inner force

3. # silent force

4. ® gsoul force

Question Number : 78 Question Id : 9767559092 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is correct?

Options :

1. ¥ A satyagrahi seeks to purify the antagonist.

2. # Violent resistance seeks to eliminate antagonism.
3. # Euphemism for satyagrah is a silent soul.

4. ® Satyagrah is a weapon of weak.

Question Number : 79 Question Id : 9767559093 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
As per passage, 'satyagraha' arms an individual with than

Options :
1. #® physical power; moral power
2. # physical power; mental power

3. # mental power; physical power
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4. ¥ moral power; physical power

Question Number : 80 Question Id : 9767559094 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Why is 'satyagraha' also termed as universal force sometimes?

Options :

1. ¥ it essentially "makes no distinction between kinsmen and strangers, young and old, man and woman, friend and foe
2. % it essentially differentiates between kinsmen and strangers, young and old, man and woman, friend and foe

3. % it essentially differentiates between kinsmen and strangers, but does not differentiate between young and old, man and woman, friend and
foe

4. ® it essentially "makes limited distinction between kinsmen and strangers, young and old, man and woman, friend and foe
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Number of Questions to be attempted : 16

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 976755629
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 9767559095 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraferRed Uy o, IR fadbedl # 4, 39 fadbed &1 9g D3 ol U 7T Ta! 4fY fawe o1 4fY &1 Ig! fdbed gl
HE + HIHIRT

Options :

1. ¢ HYdHIR

2. & HY[RIRT

3. % HYDIRI

4, % HYJDIR]

Question Number : 81 Question Id : 9767559095 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFrafeRad vy 8, IR fawedl § 9, 39 fddhed &1 99 o3 Sl 3T U Ue! HiY fawse &t 9t &1 98l fadbed 81|
HE + HIDIRT

Options :

1. ¥ HYdDIR

2. % HY[DIRT

3. ® HYDIRI

4, % HYJDIR

Question Number : 82 Question Id : 9767559096 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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fFofifead uy §, IR el # 9, 39 fahcu &1 997 &3 & feT TN Tee & et I fade &1 faweu 81

Options :

1. % 3T+
2. % 3+ g
3.¢&|¢r+&nq@

4, % 3+

Question Number : 82 Question Id : 9767559096 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFfcRad Uy |, IR [adwedl 7 ¥, 39 fddhed &1 999 &1 o1 fGT U Weg & el Wi fowde &1 fddwed gl

Options :
1. % 31+

2. % 3+ gy

Question Number : 83 Question Id : 9767559097 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafeiad uy & IR fowedl § T, 39 fawey &1 T &3 Ot T U Tsg & forw 8t e 9Ty & faurg &1 faseu gl
BB A

Options :

1. % B MR Al

2. ¥ B & A ddl
3. % DDl Bl Adl

4. % D 9 ol

Question Number : 83 Question Id : 9767559097 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
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Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

fafoiad Uy &, IR fowedl § T, 39 faed &1 99 &< I AU U Weg & ot 8t pHeRor 99 o fouig &1 fasea 71|
HApadl

Options :

1. % BHPp 3R Al

2. ¢ HD & GHHE ddl
3. % D] bl Adl

4. % HAH 9 ol

Question Number : 84 Question Id : 9767559098 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFafafad uy A, IR el & T, 39 fah ey &1 T B ol ST O - s BT el [Abed 8|
Options :

1. % ferfad

2. % i

3. % dlgd

4. v ITDT

Question Number : 84 Question Id : 9767559098 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFrafefad vy 8, IR fadwedl 9, 39 fddhed &1 999 B |l SUH ¥ 94 e b1 ol fddbed 31|
Options :

1. % ferfad

2. % P

3. % dlgd

4. 3T

Question Number : 85 Question Id : 9767559099 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
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Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

%W@auaﬁ,mﬁﬂﬁ@,wiamuwaw B SNl faT 77T Treg & vufgardt Tec o1 I8! fApey T8t B |

Options :

1. % gdled
2. % IR

3. % 3{[Hd
4. % PlAdhc

Question Number : 85 Question Id : 9767559099 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

%ﬁaﬁ«r@au&rﬁ,wﬁwﬁﬁﬁ,wf&waﬂqw B ol feU 7T Treg & vufgar Wec o1 T85! fAped T8t B |

Options :

l. % gdlled
2. % IRA

3. ¢ 3[Hd
4. % PlAdhc

Question Number : 86 Question Id : 9767559100 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafefad ve §, TR fawenl § 9, 39 Ua! fahed o1 Ta &< il Rad R & i Iuged Vs &1 98! fddweu g |
faTi & QR 8 &1 Agad ol 3T I ITHA B |

Options :

1. % gHOT

2. ¢ gRomg

3. % JOIg

4. % O
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Question Number : 86 Question Id : 9767559100 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fofafed gy o, IR fawed § 9, 39 U8 fased &1 997 &3 off Rad RIH & ot Iuged e &1 98! fabeu § |
fohel & QX I &1 Hgd &1 3Tl 3 A B |

Options :

1. % T

2. ¢ URUMY

3. % U™

4. % Ugig

Question Number : 87 Question Id : 9767559101 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gaﬁr@ﬁu%ﬁ,aﬂﬁWﬁ@r,wfadawmdw B ol fIdH Yo T Ja 33T f[dbeu g
&

Options :
1. ¢ Y
2. % o
3. % HH
4. % Hoad

Question Number : 87 Question Id : 9767559101 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fofafed gy o, IR fawed! o 9, 39 [doed &1 997 &< ol fad 2eg &1 9ad 331 f[adbed 5|
Hlad

Options :

1. ¢ §Yd

2. % b
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Question Number : 88 Question Id : 9767559102 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

;ﬁ;ﬁaﬁr@au&rﬁ,mﬁﬂﬁ@r,ww faded &1 Tg9 B Sl [T 7T Vg & Tet 31 &1 Ifad fased 711

Note: For this question, discrepancy is found in question/answer. So,this
question 1s 1gnored for all candidates.

Options :
1. R
2. ot
3. R
4. 3R

Question Number : 88 Question Id : 9767559102 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

;ﬁ;ﬁaﬁr@au&rﬁ,mﬁﬂﬁ@r,ww faed o1 Tg9 B Sl [T T Vg & Tet 31 &1 I fased 711

Note: For this question, discrepancy is found in question/answer. So,this
question 1s 1gnored for all candidates.

Options :
1. gRA
2. et
3. R
4. 3R
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Question Number : 89 Question Id : 9767559103 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

%ﬁ!@@ﬁ%ﬁﬂﬂﬁﬁﬁﬁ@r,wﬁmwﬁdw B O feT TN Weg T B! Wl U araT f[dhed g

Options :

1. % qUIl
2. % qUia
3. ¢ QUKL
4, % ol

Question Number : 89 Question Id : 9767559103 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

%ﬂ?@ﬁt{%ﬁ,ﬂﬂﬁﬁﬁﬁ,@f&dﬂﬁdw B ol faT 71T e T ! WifelT = arar fdwed g1

Options :

1. % qUEHT
2. % qUia
3. ¢ QUL
4. % qOEt

Question Number : 90 Question Id : 9767559104 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
%ﬁﬁaﬁ«r@awﬁ,wﬁmﬁﬁ@,wﬁmmwaﬁ@ﬁnww%ﬁwmwww 351 fapea B

Options :
1. % gar
2. #® cdlg
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Question Number : 90 Question Id : 9767559104 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ﬁ%ﬁr@au&rﬁ,mﬁﬂﬁ@r,wﬁdwwwﬂ ®2 ol foU U Trsg & TN Igaa e &1 Tad 33T fadhed g |

Options :
1. % Gard
2. % odlg
3. % garefi
4. ¢ gargar

Question Number : 91 Question Id : 9767559105 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Wu&rﬁ,wﬁw@fﬁﬁ,wf&waﬂaw B Ol HIFP F [T TN Weg o AR ALY YN A/ Fa-1H &1 Jad 33T fadwed
|

Options :

1. % (oY) 9gd Wy i B
2. ¢ (@H) WR I AN 3T

3. % (X)) U gH! 34 & o oo Wi TET 81
4, % (dg) 3111 51 feedi! el |

Question Number : 91 Question Id : 9767559105 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
?aﬁﬂ@au&rﬁ,wﬁﬂﬁﬁ,wﬁwmwﬁ@ﬁwﬁﬁww%&WHWWWWWWWW
|

Options :



www.prepp.in .repp
1. % (D) 9gd W AN & o personct Exerms cuice
2. ¢ (@H) W X Y [ 312
3. % (IR) U AP & & T 3o i 8T 3
4. % (dg) Tl g1 feeelt =ret |

Question Number : 92 Question Id : 9767559106 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafaRad vy ¥, IR fowedl T 9, 39 fdeed &1 9a & off [aR1H g gad a1 &1 Hel fddbed |
Options :

1. % oA ST ¥ UBT qH B 8 3R 1 T84 8

2. ¢ ST A < YBT, "TH DI 1 3R 1 A8 7o

3. % IO A ¢ I UBT - TH DI 81 3R 1 I8 812

4. % ST STV YBT, IH S 81 3R F1 18 8 2

Question Number : 92 Question Id : 9767559106 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafifad uy 4, aR faswed! & 4, 39 fdebed &1 99 &< Sl fav1 g god a1 &1 Hal fadheu gl
Options :

1. % A 3TV YBT qH B 8 3R 1 I8 8

2. ¢ IJET A ST T YD, "qH S 81 3R T I8 812"

3. % ST ST ¥ YD - GH DI 81 3R 1 18 |12

4. % IO A I ¥ YD1, IH DI 81 SR R AR 81 2

Question Number : 93 Question Id : 9767559107 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafafad uy o, aR fowedl & 9, 39 faswey &1 999 &3 Sl foU 7T geTak &1 uet 31 arar faswed |
1Y Wl -

Options :
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1. % Ty Bl
2. YT

3. % YR TN
4. % HQETAT

Question Number : 93 Question Id : 9767559107 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafiaa uy & IR fowe § ¥, 39 fawey &1 7 3% off fau 7T etk o1 I8t o aran fawe 81
g1 Wl -

Options :

1. % UMy HRAl

2. YA

3. % YR A

4. % HATT

Question Number : 94 Question Id : 9767559108 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafefad vs o, TR fawent # 9, 39 faswey &1 7o &L S fou 78 Herer &1 Jet o aran fawea 71
I TR e -

Options :

1. ¥ GRHAMEAT

2. % HY fareAT

3. ¢ 3B TG BT 3R B 3BT BT

4. % Q9 Y B HAT

Question Number : 94 Question Id : 9767559108 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafofed oy & aR fawed § 9, 39 fadmed &1 7a &3 off iU 7T Tk &1 Tet o aran fawey g
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Options :
1. % R A
2. % HY foreAT
3. ¢ 3D axq BT IR YD 3BT g
4. % TSIl Y BTH BT

Question Number : 95 Question Id : 9767559109 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafefad ue o, TR fawel # 9, 39 faded &1 70 B3 S €t 718 Aidbifad o1 Tet 3 arer fawed g |
Options :

1. % Qtad did ol

2. % QRS AR

3. % g Ak

4. ¢ T BT TSR HAT

Question Number : 95 Question Id : 9767559109 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FofiRed uy o, IR fawed! # 9, 39 [9dhed &1 997 Y S & T3 Al o] b1 Tt 31 arell fased & |
Options :

1. % gfiad Ord o

2. % AR SMERE

3. % G Hfad

4. ¢ Y BT TSR AT

Sub-Section Number : 2

Sub-Section Id : 976755630
Question Shuffling Allowed : Yes
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Question Id : 9767559110 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (96 to 100)

T foU T MR % 91 5 U AU TR €| S IR ) Yd e U R IR fadmed! H U TS Uy &1 Farad SR g |

TYRT B! AGHR BIel GFHAT HR H HIER & | TgT Afeed J3ul &l €S ¥ ARG & 3R IV Mg &I U TeaR old 3§ 991d ¢ | J8f A g fb
YITGT T MIGT 1 TR HRA A, A ID! Tewe Aai=ai I a7 iR Ml 3= died! ff, I w1 & dgAR gl & & U H a8
foraT ST € | Uf3 &vel o 39 ud &1 1 81 gfom o g1 39 fo Ya-Jag ait WiTar T & U 3R Bdl & R UgdhR Ieh| IR drg-
T AR Sidt o O S ol Tid TITd € SR ATad § 1 39 SR Al U gur WR 31 Hft ST1erd & | Uiy sia § a8 ud 1re1-3r 1 guffd
g1 a1 H 59 Ud &I R & U & 7= Sran g | gt off ¥ & A1y e T 3R @i 1id e I ¢ | Tiar # fag it A off edR R
Bl T b I A ] |  gielt Ut f1 db Wit SiTclt | 1 g giet ! I8t WiiaH & A ¥ +ff ST SIa1 8 1 39 31a¥R R gt
@ T 3R T HR AN 3G H FHA 7 |

Sub questions

Question Number : 96 Question Id : 9767559111 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ASAR Bl e Twaifera 82

Options :

1. % YEIH Y

2. ¢ YIGH T Y

3. % Y fawu g

4. % Higenmsi 4

Question Number : 97 Question Id : 9767559112 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I g &1 frd YR T ST 8 2
Options :

1. ¢ Tiid TR AT

2. % YITGH &l Yol R

3. % Uh-ga IR UM STAdHR

4. % TIEIGRT UG SR
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Question Number : 98 Question Id : 9767559113 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
R g ud ford s & 9T ST 82
Options :

1. % HERIY H

2. ¢ Mard

3. % IWUSY H

4. % Dol W g

Question Number : 99 Question Id : 9767559114 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
70 A B - 1 gAfYT o1 yaigar T8 82
Options :

1. % 3ffdq

2. % RYIUd

3. ¥ QYh

4. % Qg

Question Number : 100 Question Id : 9767559115 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T STDE BT B SUGAd MP-

Options :

1. % PP glait
2. % GRIBIT

3. % HERIY B gIall
4. B & Py T
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Question Id : 9767559110 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions = "
: No
Question Numbers : (96 to 100)
T fou T e % 91 5 Uy U TR €1 39 TN B AHgde Ue 3R IR b H Q Ul Y BT gataH IR I |
TYRT Pt ASHAR Blell g1 R § ARIER 3 | 81 HiedTd U3H &l §8 ¥ ARG § 3R 3N Ge &I Ud TegR od I §91d ¢ | I8 A g fo
AT H0] UG DI IR B U, A S| Fe@e -1 I i i MU 3 Gied! oY, I IR 1 agAR gic & U J 18
fopaT ST € | Uf3 §e o 39 ud &1 1 81 giom o g1 39 fa Yae-Jag aift Wimar T & $HUs 3R Bdl & R UgdhR Ieh| IR drg-
T AR Siet IOFAT A FS i d T § 3R A &1 39 SR Al U gk W 3 Wi S1efd ¥ | Uiy &7 7 g ud 1e1-5w1 o) gHftid
g1 TaT H 59 Ud B! R & U & T S g | gt o I & A1y e T 3R diep 1id e I ¢ | 7iar # fag it Sar off eRdR R
Bl T b I A ] | H gt gt feml ao Wit offdl! ¢ | SHieTE gicht &l a8t ITdaH! & A1 & 1} ST o7l § | 39 AR WR I8!
e T 3R T HR AN 3G H EA B |

Sub questions

Question Number : 96 Question Id : 9767559111 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ASHR giai! ey Twaiferd g2

Options :

1. % YGHEIH Y

2.« YIdH $UT Y

3. % YA faw g

4. % Higenmsi 4

Question Number : 97 Question Id : 9767559112 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

S gfofar & ford YR TR STan g 2
Options :

1. ¢ Tid THR ArIHR

2. % YA &l Yol e

3. % Uh-gI¥ IR UM STdhR

4. % HRAERT YIS S 1HR
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Question Number : 98 Question Id : 9767559113 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option """ 7=
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
R g8 ud forg g & TR ST /2
Options :

1. % HERIY ¥

2. ATy

3. % IWUSYH

4. % Dol W T8

Question Number : 99 Question Id : 9767559114 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T8 Y M - 1 FAfdd BT vafaare T8 8
Options :

1. % 3ffdq

2. % R

3. ¥ R)h

4. % Qo

Question Number : 100 Question Id : 9767559115 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T STDE BT B SUGA MP-

Options :

1. % PO D! Sl
2. % QR BIT

3. % HERIY B gIall
4.« Bl o B3 T
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Disciplinel
Group Number : 6
Group Id : 976755231
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No
Disciplinel
Section Id : 976755524
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 20
Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 976755631
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 9767559116 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Why are the testicles located outside of the abdomen covered by sac?
Options :

1. #* For better copulation

2. % For proper positioning of testicles
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3. ¥ For better thermoregulation of testicles

4. ® To increase the size of testicles

Question Number : 101 Question Id : 9767559116 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U & aTedt 4T H R Sigehiy U Uit § T b 8Id 52
Options :

1. % 9k &7 9 Ay fobar & forg

2. % 3fgepIyl Bl I R H 7@ & forw

3. ¢ JEHIN & dgcR &1 ¥ dY-Fge & forg

4. % 3SHIY BT ATHR IgMH & T

Question Number : 102 Question Id : 9767559117 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT a part of the pubic bone of an animal?
Options :

1. ® Ilium

2. ® Ischium

3. % Femur

4. % Pubis

Question Number : 102 Question Id : 9767559117 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAAfad & @ ®1F T MR & SRy (Ffee ) 67 YT 81 82
Options :

1. * Poe B gl (o)

2. % IEAIY (Sfeaam)

3. ¢ IfdPHT (BIWR)
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4. % RMAJIRY (Gfa)

Question Number : 103 Question Id : 9767559118 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following acts as a wall between the thoracic cavity and the abdominal cavity?

ersonal Exams Guide

Options :

1. # Lungs

2. % Heart

3. % Rumen

4. ¥ Diaphragm

Question Number : 103 Question Id : 9767559118 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad o @ ®1F g8 TeT 3R IR TeT & Aed U iR & U § &1 &l 82
Options :

1. % gl

2. % fdq

3. % JYH HRE (FH)

4. ¢ AYEC (SIAWHTH)

Question Number : 104 Question Id : 9767559119 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the name of unique Very large, blunt, irregular-shaped process found on the femur?
Options :

1. # Trochlea

2. % Patella

3. % Trochanter

4. # Spine
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Question Number : 104 Question Id : 9767559119 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IfdeT (WIR) TR UTE S aTeft 33, 9gd sat, $ida, HHafia SeR o ufohar &1 =14 w1 82
Options :

1. % Thep (CIfdera)

2. % S1f-gaT (Uean)

3. ¥ RS @lh=<)

4. % TTES (W)

Question Number : 105 Question Id : 9767559120 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is the longest nerve of an animal body?
Options :

1. ¥ Sciatic

2. # Radial

3. ¥ Median

4. ® Saphenous

Question Number : 105 Question Id : 9767559120 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fafd & 9 ®1F T U] IRR &t Ja9 Al diHAHT 82
Options :

1. ¢ (dd (Hguies)

2. % Jig:Unl¥d (fsaa)

3. % HEH (HiET)

4. % AT (AfthT)
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Question Number : 106 Question Id : 9767559121 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option™ ™" "™ ™"
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The oesophagus is sub-divided into three parts/anatomical segments. Which of the following is NOT the part/divided segment of oesophagus?
Options :

1. # Cervical

2. % Abdominal

3. # Thoracic

4. ¥ Pubic

Question Number : 106 Question Id : 9767559121 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T (FUHIT) &1 o HI/RRIRS &3t # fawnfora fosan man g1 Fufafea & @ oF-31 It &1 yr/favia T =8l 82
Options :

1. % Id1 (TRATZH )

2. % 3

3. % J&

4. ¢ Y (Gfddh)

Question Number : 107 Question Id : 9767559122 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which artery provides blood supply to the heart?
Options :

1. ¥ Coronary artery

2. ® Hepatic artery

3. ® Systemic aorta

4. % Semilunar valve

Question Number : 107 Question Id : 9767559122 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
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Correct Marks : 1 Wrong Marks : 0.25 fourrersenalframs cuide
DF-U YA g3T B Iad B YL T Bl 82
Options :
1. ¢ SRR Yol
2. % gUIfcdh Yol
3. % Frdgfes HETywH!
4. % JTEPR dicd

Question Number : 108 Question Id : 9767559123 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is the largest organ of an animal’s body?
Options :

1. #® Liver

2. % Rumen

3. % Limbs

4. ¥ Skin

Question Number : 108 Question Id : 9767559123 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofifad § ¥ o1 T JHoR & IRR BT a9 FS7 317 82
Options :

1. # god

2. % YUY HIR (FH)

3. % foig

4, ¢ dd[

Question Number : 109 Question Id : 9767559124 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Which of the following is the synonym of the 'growth hormone'?
Options :

1. # Thyroid stimulating hormone

2. % Prolactin

3. # Oxytocin

4. ¥ Somatotropic hormone

Question Number : 109 Question Id : 9767559124 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
g # 9 19 qfe g 1 uafuar 62
Options :

1. % 2‘||L|‘Q|$S—\31-}|\3'|C*> GIHTd

2. % Yrdifde

3. % SRR

4. GHERICIUD BTHIA

Question Number : 110 Question Id : 9767559125 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following blood components help in blood clotting?
Options :

1. ¥ RBCs

2. % Neutrophils

3. % Eosinophils

4. ¥ Platelets

Question Number : 110 Question Id : 9767559125 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
faffed § § ®H-91 Wadded <G & Yddh 91 H Hag HRdl 82

Options :
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2. % YcIfthe
3. % ZINRAIhA
4. ¥ Wedc

Question Number : 111 Question Id : 9767559126 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is the main function of RBC/erythrocyte?
Options :

1. # To prevent bleeding

2. # Improving immunity of animals

3. ¥ Transport oxygen

4. ® Help in blood clotting

Question Number : 111 Question Id : 9767559126 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad # 9 S-a1 RARf/AfiNTEe &1 e 1 82
Options :

1. % AT Bl AH]

2. % SHaR] B UlcRE Dl SgaR S

3. ¢ RIS 1 yRagH

4. % GA P Ydh oTH | Hag Bl

Question Number : 112 Question Id : 9767559127 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which condition is known as dyspnoea?
Options :

1. ¢ Difficulty in breathing
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2. # Difficulty in swallowing
3. # Difficulty in chewing

4. % Difficulty in rumination

Question Number : 112 Question Id : 9767559127 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

forg fufa &) g ((swfam) & ¥ & ST A 82
Options :

1. ¢ I o # ®gTs

2. % frem o Hfes

3. % ggM H HieE

4. % JTCH DR H HI3TS

Question Number : 113 Question Id : 9767559128 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The diaphragm is NOT present in:
Options :

1. ® ruminants

2. ® non-ruminants

3. # horses

4. ¥ birds

Question Number : 113 Question Id : 9767559128 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 & O forad s (SThT) HiS[E -Te! aldl 82
Options :

1. % STl A ardl ggefi o

2. ® T 8 B3 ara gt o
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Question Number : 114 Question Id : 9767559129 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The normal pH value of the blood is around:
Options :

1. % 8.1

2.9 74

3.% 6.9

4. % 6.7

Question Number : 114 Question Id : 9767559129 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
YT &1 WG pH A Y faT 8iar 82
Options :

1. # 8.1

2.¥74

3. % 6.9

4. % 6.7

Question Number : 115 Question Id : 9767559130 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is the common passage for the digestive as well as the respiratory system?
Options :

1. ¥ Larynx

2. % Pharynx

3. % QOesophagus

4. # Trachea
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Question Number : 115 Question Id : 9767559130 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofefad & ¥ SH-91 ureH 93 & J1Y-91Y 49 73 &1 JrH AN 82
Options :

1. % ST (afte)

2.« T ()

3. % IO (STHIT)

4. % YT (fda)

Question Number : 116 Question Id : 9767559131 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is the 'store house of the urine'?
Options :

1. #® Kidney

2. % Ureter

3. ¥ Urinary bladder

4. # Penis

Question Number : 116 Question Id : 9767559131 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fafifed § @ H19-91 1 o1 YR T8 12
Options :

1. % gab (s

2. % TAaIe (V)

3. v TAR™
4. % Ty
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Question Number : 117 Question Id : 9767559132 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option™ """ 7™ "
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is called as the 'true stomach of ruminants'?
Options :

1. # Rumen

2. # Reticulum

3. ¥ Omasum

4, ¥ Abomasum

Question Number : 117 Question Id : 9767559132 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafefad & @ fd el A arell ugeh &1 3l Ue gl o 82
Options :

1. % TYH 3THRY (FH)

2. % SfreT Rfcpa)

3. % T STHTRR (3NHTH)

4.« QY THRR (TIHH)

Question Number : 118 Question Id : 9767559133 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is the largest compartment of the ruminant stomach?
Options :

1. ¥ Rumen

2. # Reticulum

3. ¥ Omasum

4, % Abomasum

Question Number : 118 Question Id : 9767559133 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
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frafeiad & § &9 STTel & aTal T[Sl & Ue &1 Ty a7 fauTT 82
Options :
1. ¢ UYH STHIRY (FH)
2. # et Rfepad)
3. % AT ST (3NATH)
4. % IgY R (TIHTH)

Question Number : 119 Question Id : 9767559134 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the optimum/ recommended moisture content of silage to be stored and later used as animal feed?
Options :

1. ¥ 60-70 percent

2. % 15-20 percent

3. % 45-48 percent

4. % 35-37 percent

Question Number : 119 Question Id : 9767559134 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

URRIET IR (AT BT IR HRA 3R 91¢ T U IRT & & H SUTIT 63 & (o8, IUHT 3TaH/SRIRIT STkl 3727 o1 82
Options :

1. ¢ 60-70 Ufc=Td

2. % 1520 gfa=rd

3. % 45.48 Yfa=d

4. % 35-37 gfa=rd

Question Number : 120 Question Id : 9767559135 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Which of the following is NOT the basic nutrient?
Options :

1. # Fat

2. # Protein

3. ¥ Water

4. ¥ Feed

Question Number : 120 Question Id : 9767559135 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafed & @ &9 ga 0y d@ 81 /2
Options :
1. % a4l
2. % UIdH
3. % 9
4. ¢ IR

Discipline2
Group Number : 7
Group Id : 976755232
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No

Discipline2
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Section Id : 976755525 prenaBrams enee
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 976755632
Question Shuffling Allowed : Yes

Question Number : 121 Question Id : 9767559136 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following pairs is NOT correct about the anti-nutritional factor?
Options :

1. ¥ Soyabean-Oxalate

2. % Groundnut cake-Aflatoxin

3. % Subabool-Mimosine

4. ® Cottonseed-Gossypol

Question Number : 121 Question Id : 9767559136 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e # § PH-91 7| TR e & TR § 98 e 82
Options :

1. ¢ FITEH - SHlRIeie

2. % Tl & @elt - TodTe e

3. % goqd - iR

4. % fo=irer - e
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Question Number : 122 Question Id : 9767559137 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option™ """~ *"
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The deficiency of fluorine leads to:
Options :

1. ¥ dental caries

2. % blind staggers

3. # parakeratosis

4. % stringy wool

Question Number : 122 Question Id : 9767559137 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
WRAH HHY  gargl
Options :

1. ¥ dd el

2. % SRS WIR

3. % RIH I

4. % ReTit e

Question Number : 123 Question Id : 9767559138 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Piglet anaemia occurs due to the:
Options :

1. ¥ deficiency of iron

2. % toxicity of phosphorus

3. % deficiency of calcium

4. ® toxicity of magnesium

Question Number : 123 Question Id : 9767559138 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
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Correct Marks : 1 Wrong Marks : 0.25 fourrersenaltrams e

ST YHR 3R (FUTere T fhs SR gldr |2

Options :

1. ¢ 3R DI HHT

2. % BRHRY P [AuTaddl
3. % PHickrgw o HHI

4. % TURHH ot faTedan

Question Number : 124 Question Id : 9767559139 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

How much is the adequate concentrate level for the production ration of the zebu cattle?
Options :

1. # 1 kg concentrate/3 kg milk

2. # 2 kg concentrate/2.5 kg milk

3. ¥ | kg concentrate/2.5 kg milk

4. % 1 kg concentrate/2 kg milk

Question Number : 124 Question Id : 9767559139 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

oIg HaRM! & IdTe =M & oIt vt Figdl W o= g2
Options :

1. % 1 fooum Sigan3 fbur gy

2. % 2 foouT Figdl2.5 fbar gy

3. ¢ 1 fbur Tigdi2.s5 feur gy

4. % 1 a1 gigan2 fear gy

Question Number : 125 Question Id : 9767559140 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Which of the following is NOT the proximate principle of the feed?
Options :

1. ® Water

2. % Oxygen

3. # Crude protein

4. ® Crude fibre

Question Number : 125 Question Id : 9767559140 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafafed # § &9 IR &1 o7 dd T8l 82
Options :

1. % ST

2. ¢ e

3. % 3URsHd WA

4. % 3MONSHd BIgR

Question Number : 126 Question Id : 9767559141 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The most essential amino acid necessary for cats is:
Options :

1. ¥ taurine

2. % glycine

3. % lysin

4. ¥ methionine

Question Number : 126 Question Id : 9767559141 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fofceral & forg et gad sifFard ot ot &

Options :
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2. % TSR
3. % AgRH
4. % AfYeNfT

Question Number : 127 Question Id : 9767559142 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Coprophagy or pseudo-rumination is observed in:
Options :

1. # rat

2. % horse

3. % cattle

4. ¥ rabbit

Question Number : 127 Question Id : 9767559142 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A ATHITCT 1 BeI-SFTel Selt SiTelt B
Options :
1. ® Tgl
2. % gl
3. % Haxit
4.« T

Question Number : 128 Question Id : 9767559143 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the scientific name of zebu cattle?
Options :

1. ¥ Bos taurus
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2. ‘"-;‘-/ BOS indicus ersonal Exams Guide
3. ¥ Bubalus bubalis
4. ® Capra hircus

Question Number : 128 Question Id : 9767559143 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
SERERIGACRIEEAC IR
Options :

1. ® §ETRY

2. ¥ S Sfswd

3. % gAY gaferd

4. % o gy

Question Number : 129 Question Id : 9767559144 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is the buffalo breed with the highest fat percentage in milk?
Options :

1. ¥ Murrah

2. % Surti

3. ® Nili ravi

4. ¥ Bhadavari

Question Number : 129 Question Id : 9767559144 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

for T ATl 99 & g H qa 31 a9 ufawrd gt 82
Options :

1. % IRTg

2. % gt
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Question Number : 130 Question Id : 9767559145 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT the local breed of cattle in India?
Options :

1. ¥ Jersey

2. ® Gir

3. % Sahiwal

4. # Red Sindhi

Question Number : 130 Question Id : 9767559145 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFrafafEd & 3 HF WRa ¥ TaRR B R T T8 12
Options :

1. v St

2. % iR

3. % gifgard

4. % e fei

Question Number : 131 Question Id : 9767559146 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the incubation period in chicken eggs?
Options :

1. # 18 days

2. ¥ 21 days

3. # 27 days
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4. ® 35 days

Question Number : 131 Question Id : 9767559146 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T & 3fST B S Sfafe 1 82
Options :

1. % 18 feH

2. ¢ 21187

3. % 27137

4. % 35fad

Question Number : 132 Question Id : 9767559147 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

About the time period for the incubation of chicken eggs in setter and hatcher, which of the following is correct?
Options :

1. ¥ 18 days in setter and 3 days in hatcher

2. # 15 days in setter and 3 days in hatcher

3. # 21 days in setter and 6 days in hatcher

4. ® 25 days in setter and 2 days in hatcher

Question Number : 132 Question Id : 9767559147 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IR 3R eR A Iif & 3/t & oA o1 wHamafy IR #, Fafifea § J - gei 82
Options :

1. ¢ IRA 18 e SR gRA 3 feA

2. % IR T 15T AR gR A3 feA

3. % G 21l siRgR A 6 T

4. % YR T 25 T iR gR A2 feA
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Question Number : 133 Question Id : 9767559148 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which chicken breed is famous for the meat with medicinal benefits?
Options :

1. ¥ Leghorn

2. ¥ Brahma

3. # Cochin

4. % Kadaknath

Question Number : 133 Question Id : 9767559148 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

et Tl o Iy Siu= 7 & e fore =1eat o 71-gfifar ufre 82
Options :

1. ® TIgH

2. % §gll

3. % B

4, ¥ HSHAY

Question Number : 134 Question Id : 9767559149 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which ovary and oviduct is functional in hen?
Options :

1. ¥ Left ovary, left oviduct

2. # Right ovary, right oviduct

3. % Left ovary, right oviduct

4. # Right ovary, left oviduct

Question Number : 134 Question Id : 9767559149 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
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Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

it o i-%t fERifY oI fEaare-t fopam=ia gicht 82
Options :

1. ¢ 7 TS, a18 fEwarfe

2. % o8 fEHifY, org féwanfeh

3. % §T8 fEify, o féqanfe=h

4. % 13 Sy, a1 fEwarfe

Question Number : 135 Question Id : 9767559150 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The following are diseases that affect poultry. Which of them is NOT a disease caused by virus?
Options :

1. ® Marek’s disease

2. % Ranikhet disease

3. ¥ Pullorum disease

4. % Fowl pox

Question Number : 135 Question Id : 9767559150 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraforiad dafial & Tad diect guifad gt 81 378 J D14 fau] (arRY) & HRUT g arelt SRt T8t 82

Options :

Question Number : 136 Question Id : 9767559151 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
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Correct Marks : 1 Wrong Marks : 0.25 fourfersenalxams Guide
Which of the following represents the correct description of a hybrid species?

Options :

1. # Zonkey = Zebra + dog

2. # Tigon = Female tiger + male lion

3. #® Liger = Male tiger + female lion

4. ¥ Tigon = Male tiger + female lion

Question Number : 136 Question Id : 9767559151 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFoffed # ¥ o1 I yiicrdl &1 gl auf- i 82
Options :

1. % \_Sﬁﬁ(Zonkey) ZQ_GRTJrW

2. % TSI (Tigon) = HTGT §TY + R ]

3. % AR (Liger) — R 99 + AGT W

4. ¢ TS (Tigon) = 7R §TY + HIGT

Question Number : 137 Question Id : 9767559152 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Who is the father of genetics?

Options :

1. ¥ Gregor Johann Mendel

2. # Charles Darwin

3. # Morgan

4. % Watson and Crick

Question Number : 137 Question Id : 9767559152 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

STIAIRID! & SHE DI 52
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Options :

1. ¢ TR g Hed
2. % Tred SifdA

3. % A

4. % gicad 3R fords

Question Number : 138 Question Id : 9767559153 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who proposed the double helix model of DNA?
Options :

1. # Morgan

2. % Watson and Crick

3. #® Gregor Johann Mendel

4. ® Charles Darwin

Question Number : 138 Question Id : 9767559153 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

St &1 fg-Fafertt (Saa efere) Afsd farem fear g2
Options :

1. % A

2. ¢ dleTA 3R fhdh

3. % YR g Hed

4. % g1 SIfdA

Question Number : 139 Question Id : 9767559154 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following scientists proposed the 'theory of natural selection'?
Options :
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1. ¥ Robert Hook founperenaframs cuide
2. % Watson and Crick

3. ® Gregor Johann Mendel

4. % Charles Darwin

Question Number : 139 Question Id : 9767559154 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fore amfAe 3 Tipfae avur o1 Rigia ufdmfea faar g2
Options :

1. % T gh

2. % e R fords

3. % PR SR Hsd

4. 918 SIfdA

Question Number : 140 Question Id : 9767559155 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following carries the genetic information of the individual?
Options :

1. ¥ DNA

2. % RNA

3. # Mitochondria

4. ® Cell wall

Question Number : 140 Question Id : 9767559155 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e P ARG THBR] BT 98- HIF Bl 82

Options :

1. ¢ SITY
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2. % 3RUAU

3. % TABIUMHT (HISCIDIgaN)
4. % BRI fHfT
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Group Minimum Duration :
Show Attended Group? :
Edit Attended Group? :
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Group Marks :

Is this Group for Examiner? :
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Section Number :
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Mandatory or Optional :
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Enable Mark as Answered Mark for Review and Clear Response :
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Question Shuffling Allowed :
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Question Number : 141 Question Id : 9767559156 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical
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Correct Marks : 1 Wrong Marks : 0.25

Which option is the correct pair showing an animal and its chromosome number?
Options :

1. # Cattle-40

2. % Horse-60

3. % Sheep-54

4. % Goat-70

Question Number : 141 Question Id : 9767559156 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

O] 3R 9P URE T B G=1i aTell Fa !l H HIA-91 62
Options :

1. % Ta=lt (MeE)-40

2. % HIS1-60

3. ¢ US-54

4. % §DH1-70

Question Number : 142 Question Id : 9767559157 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following food preservatives is commonly used in commercial pet food?
Options :

1. # Salicylic acid

2. % Boric acid

3. % Monosodium glutamate

4. ¥ Benzoic acid

Question Number : 142 Question Id : 9767559157 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IToIR H firem arel uraq ugsii & oM # SMdR IR forg @) ufRelt (ws fieidfed) Sudi faar S g2
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Options :

1. % Jeifyfae s

2. % qIRD 3T

3. % AHNEISTH e
4. ¥ dSlIgD 3

Question Number : 143 Question Id : 9767559158 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is a prodrug?
Options :

1. ¢ Enalapril

2. ® Dopamine

3. % Ampicillin

4. % Prednisolone

Question Number : 143 Question Id : 9767559158 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FEfRed & ¥ D T WgT o7
Options :

1. ¢ T

2. % SIUTHTH

3. % THiRE

4. % US{ERM

Question Number : 144 Question Id : 9767559159 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following toxic principles is present in the castor beans?
Options :
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1. # Gossypol
2. % Abrin
3. ¥ Ricin

4. ¥ Mimosine

Question Number : 144 Question Id : 9767559159 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3RS} Y wierdt § HI19-91 fawed dd His[g giaT 82
Options :

1. ® IO

2. % TSfay (ufs)

3. ¢ URRH

4. % ToeRETEH

Question Number : 145 Question Id : 9767559160 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Epinephrine is indicated in which of the following conditions?
Options :

1. # Hypertension

2. % Allergy

3. ¥ Anaphylaxis

4. % Asthma

Question Number : 145 Question Id : 9767559160 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fepr fRUfcl H QB foa STt &2

Options :
1. # 3=l Y] (E;IisEQI"I)
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3. Tl (UTthei o)

4. % GHT (3RYHM)

Question Number : 146 Question Id : 9767559161 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following acts as a haemo-coagulant?
Options :

1. # Streptokinase

2. % Dicoumarol

3. ¥ Ethamsylate

4. ® Ferrous sulphate

Question Number : 146 Question Id : 9767559161 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFrafefed 7 9 B te SH-BIdc & ¥U H S Bl 82
Options :

1. % RO

2. % SEHIRIA

3. ¢ TYHHRC

4. % B3 Gthe

Question Number : 147 Question Id : 9767559162 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who is regarded as the 'father of extension education'?
Options :

1. ¥ JP Leagans

2. % EM Rogers
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3. ¥ Watson and Crick
4. ® Karl Landsteiner

Question Number : 147 Question Id : 9767559162 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ford TR R8T (TSI TS RI) HT ST HTHT Il 82
Options :

1. ¢ SOt =g
2. % SEARIGY
3. % gicgd 3R fhp

4. % BHTA ASTITR

Question Number : 148 Question Id : 9767559163 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT the type of extension teaching method?
Options :

1. # Individual method

2. ® Group method

3. ®# Mass method

4. ¥ Quality method

Question Number : 148 Question Id : 9767559163 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad @ 9 o TR e @RI TsgH ) Ui &1 U6 UHR T8l /2
Options :

1. % Sgfoard fafg

2. % g fafd

3. % Ay fafy
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Question Number : 149 Question Id : 9767559164 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who occupies the central position in learning situation?
Options :

1. # Teacher

2. ¥ Learner

3. # Teaching aids

4. ® Teaching facilities

Question Number : 149 Question Id : 9767559164 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
siftpra fRufa & foreraT i =M 82
Options :

1. % ALY

2. TRt

3. % fRreror ggTgS Il

4. % fRrgror gfaemy

Question Number : 150 Question Id : 9767559165 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Who inaugurated Panchayati Raj in 1959?
Options :

1. ¥ BR Ambedkar

2. % Sardar Vallabhbhai Patel

3. ¥ Jawaharlal Nehru

4. % Mahatma Gandhi
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Question Number : 150 Question Id : 9767559165 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1959 T U 1S BT SgdTe fave fobar Ut?
Options :

1. % SR SfdSH

2. % TRER T HTS Ued

3. ¥ S[ATeR A1d g ®

4. % TGTET TR

Question Number : 151 Question Id : 9767559166 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following are considered as the first ones to adopt any new idea?
Options :

1. # Laggards

2. # Late majority

3. ¥ Innovators

4. # Early adapters

Question Number : 151 Question Id : 9767559166 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fat +ft U foaR &) Y UgS YA It Afdd Y AT HET oIl 82

Options :

1. % fragt (@ms)
2. % qc AW
3. ¢ YA (31deR)

4. % IRVP IURS (3feff TSTER)
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Question Number : 152 Question Id : 9767559167 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option™ ™" 7™ ="
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
How many goats are present in one unit?
Options :

1. ¥ 10 goats, 1 buck

2. % 18 goats, 2 buck

3. # 12 goats, 1 buck

4. % 15 goats, 1 buck

Question Number : 152 Question Id : 9767559167 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TS SHIS 1 foha Ja-da Al gidl 67
Options :

1. ¥ 10 SH IR, 1 THT

2. % 18 FHNAI, 2 THI

3. % 12 HRAT | TH

4. % 15 BT, | TH

Question Number : 153 Question Id : 9767559168 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Operation Flood was launched in which of the following years?
Options :

1. % 1960

2.%1970

3. % 1980

4. % 1965

Question Number : 153 Question Id : 9767559168 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
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HTIRTH TS Pl ford a8 Y& fowar am o
Options :
1. ¥ 1960
2.9 1970
3. % 1980
4. % 1965

Question Number : 154 Question Id : 9767559169 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who is regarded as the 'father of white revolution'?
Options :

1. ¥ Verghese Kurien

2. % MS Swaminathan

3. % Hiralal Chaudhary

4. ® Norman Ernest Borlaug

Question Number : 154 Question Id : 9767559169 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

5 94 Hifd BT SIS AHT ST 82
Options :

1. ¥ TS S

2. % TH.UY. WHHERHA

3. % gRIATS e

4. % 9T 3% IRANT

Question Number : 155 Question Id : 9767559170 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is the correct sequence of the marketing channel?
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Options :

1. ¢ Producer-Broker-Wholesaler-Retailer-Customer
2. # Producer-Retailer-Wholesaler-Customer

3. # Retailer-Wholesaler-Producer-Broker-Customer

4. ¥ Customer-Retailer-Producer-Retailer-Customer

Question Number : 155 Question Id : 9767559170 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS fA9UH 37a T g ShH T 82

Options :

1. ¢ fofdr- g faar-uie cauRt - gexT TRl Ie®
2. % FHTAI-gERT AURI-Ud TTARI-AEH

3. % Gexl AURI-Ae ATIRI-FAfdT-efaar-ags
4. % YD -Gl ATIRI-FHTAI-GExT AURI-IEH

Question Number : 156 Question Id : 9767559171 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The tendency of a man to consider his own culture superior than others is called:
Options :

1. # culture

2. ® customs

3. % religion

4. ¥ ethnocentrism

Question Number : 156 Question Id : 9767559171 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3TN TP B gERI A FgR AMA D1 AT &1 UgRY ) 1 Bl Il /2

Options :
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4, ¢ TRTAdb gDl (TUARICOM)

Question Number : 157 Question Id : 9767559172 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following animals has the highest dressing percentage?
Options :

1. ¥ Pig

2. # Goat

3. % Sheep

4. % Cattle

Question Number : 157 Question Id : 9767559172 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

forg SR & e 3ifere SR ufa=d gidr 82
Options :

1. % 3R

2. % gy

3. % Yg

4. % I @)

Question Number : 158 Question Id : 9767559173 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the average yield of blood and average bleeding time for cattle during its slaughter?
Options :

1. % 5kgin 10 min
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2. ® 15 kg in 20 min ersonal Exams Guide
3. ¥ 10-12 kg in 6 min
4. % 14 kg in 14 min

Question Number : 158 Question Id : 9767559173 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HARM & 94 P SR IT T8 aTd Iad B 3T HET 3R 3G IGaHTd BT IHT 71 52
Options :

1. % 10 e d s foomn

2. % 20 e o 15 fooom

3. ¢ 6 fBFe | 10-12 fooam

4. % 14 e 14 oo

Question Number : 159 Question Id : 9767559174 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

People belonging to which of the following religions practice the 'Halal method' of ritual slaughter of an animal?
Options :

1. ® Sikh

2. ® Jewish

3. % Muslim

4. % Shechita

Question Number : 159 Question Id : 9767559174 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U BT 9Y R T 5 Ty &b 1T garet fafdr o1 urer v 82
Options :

1. % Ryog

2. % ggdt
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3. v g™
4. % Qfar

Question Number : 160 Question Id : 9767559175 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Veal is a meat of which of the following animals?
Options :

1. ¥ Calf

2. # Deer

3. % Cattle

4. % Pork

Question Number : 160 Question Id : 9767559175 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

o SITHaR & [ B! "diet BT STl 52
Options :
1. ¥ d3d8l
2. % g
3. ® Hazf (TMee)
4. % Y3

Discipline4
Group Number : 9
Group Id : 976755234
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No

Edit Attended Group? : No
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Break time : 0

Group Marks : 20

Is this Group for Examiner? : No
Discipline4

Section Id : 976755527

Section Number : 1

Section type : Online

Mandatory or Optional : Mandatory

Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number : 1

Sub-Section Id : 976755634

Question Shuffling Allowed : Yes

Question Number : 161 Question Id : 9767559176 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In Muslims religion, the consumption of is forbidden.
Options :

1. ® chevon

2. ¥ pork

3. % beef

4, % veal

Question Number : 161 Question Id : 9767559176 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

JReHdy s FHrdgTafid gl
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Options :

1. % g (TP BT HY)
2. ¢ Ul (3R &1 H)
3. % |t (UG &1 H9)
4. % did (TS s BT HN)

Question Number : 162 Question Id : 9767559177 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The diseases that are transmitted from parents to off-springs are called:
Options :

1. # acquired disease

2. ¥ hereditary disease

3. ® congenital disease

4. ® immune discase

Question Number : 162 Question Id : 9767559177 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AT & 3e! A § e arelt SRl &1 gl ST 6:
Options :

1. % JUThoid IRT

2.« GRITA I

3. % SHWITd I

4. % QR INT

Question Number : 163 Question Id : 9767559178 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is a type of infectious disease?
Options :
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1. # Deficiency disease
2. % Metabolic disease
3. % Poisoning

4. ¥ Viral disease

Question Number : 163 Question Id : 9767559178 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
5 7 3 B YehTHa A7 BT Th TR 67
Options :

1. % BT I

2. % Y=L AT

3. % fauTeRdr

4. ¢ fauTULS 0T

Question Number : 164 Question Id : 9767559179 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which type of diseases have the shortest duration?
Options :

1. ® Acute disease

2. ® Sub-acute disease

3. ¥ Peracute disease

4. % Chronic disease

Question Number : 164 Question Id : 9767559179 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fore PR 3 T Y S1afy Sl SISt Bt 82

Options :

1. % TRC R
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3. ¥ IRIHRGE AT
4. % HIHD I

Question Number : 165 Question Id : 9767559180 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the area of spread, the diseases that have worldwide distribution are called:
Options :

1. # sporadic diseases

2. # endemic diseases

3. # zoonotic diseases

4. ¥ pandemic diseases

Question Number : 165 Question Id : 9767559180 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR &3 & 3R, a1 4R T T aTelt SRl &1 gl ST 6:
Options :

1. % PHr-eh INT

2. % QI I

3. % URLSI=T RA

4.+ HETHRI I

Question Number : 166 Question Id : 9767559181 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which is the causative agent of haemorrhagic septicaemia?
Options :

1. #® Virus

2. ¥ Bacteria
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4. ® Protozoa

Question Number : 166 Question Id : 9767559181 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

G gfroiiaRaddn (gaRfore ATt &1 RS DI |2

Options :

1. % fqUIY] (ARR9)
2. ¢ SfiaTy] (daifean)
3. % Hddh (Bl

4. % Gicronaf

Question Number : 167 Question Id : 9767559182 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is an incorrect pair?
Options :

1. ® Dirofilariasis - Heart worm

2. ® Thelaziasis - Eye worm

3. % Spirocercosis - Oesophageal worm

4. ¥ Vermicious pneumonia - Heart worm

Question Number : 167 Question Id : 9767559182 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafoad § @ B9 Ue Tad 3w 72
Options :

1. % fSAMpaRaiig - ggpl™

2. % AR - AAPIH

3. % WA - Tl HiY
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Question Number : 168 Question Id : 9767559183 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is the synonym of ruminal tympany?
Options :

1. # Intestinal obstruction

2. # Vagus indigestion

3. ¥ Bloat

4. % Simple indigestion

Question Number : 168 Question Id : 9767559183 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafead 7 9 & e fia feuh o1 gafgarh 32
Options :

1. % S-SRIy

2. % 9T 3UT

3. ¢ o (IC)
4. % YR 3T

Question Number : 169 Question Id : 9767559184 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Inflammation of the udder is known as:
Options :

1. ¥ mastitis

2. % cystitis

3. # nephritis

4. % arthritis
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Question Number : 169 Question Id : 9767559184 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Y Pt GOl Bl & =0 H ST ST g |
Options :

1. ¢ SERIY
2. % THARERNY
3. % JIHRY
4. % =My

Question Number : 170 Question Id : 9767559185 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fowl typhoid is a disease affecting:
Options :

1. ¥ Poultry

2. % Cattle

3. % Goats

4. ® Sheep

Question Number : 170 Question Id : 9767559185 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

BhTd CIShISS Uh SR g S B JHIAd B B
Options :

1. ¢ Uieg)

2. % HARM @MYA)

3. % g

4. % US
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Question Number : 171 Question Id : 9767559186 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option™ """
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is the absorbable surgical suture material?
Options :

1. # Cotton

2. % Silk

3. # Nylon

4. ¥ Catgut

Question Number : 171 Question Id : 9767559186 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FEfed & 9 319 saxis e Wad uard 2
Options :

1. # dUNY

2. % I3

3. % AR

4. ¢ TId (FeTTe)

Question Number : 172 Question Id : 9767559187 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is the non-absorbable suture material?
Options :

1. # Catgut

2. ® Fascia lata

3. ¥ Cotton

4. ¥ Polyglycolic acid

Question Number : 172 Question Id : 9767559187 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
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Correct Marks : 1 Wrong Marks : 0.25 founperenaframs cuide
frafofed # § @9 R-sraersy W uerd g2

Options :

1. % gid (FeTTe)

2. % G¥= YTaruft

3. ¢ oI

4. % UlcilTeIS e Sk

Question Number : 173 Question Id : 9767559188 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the use of the artery forceps?

Options :

1. ¢ To check the bleeding by pressing artery at the time of operation
2. % To hold the tissue

3. # To open the abscess

4. ® To drench medicines to small animals

Question Number : 173 Question Id : 9767559188 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

S TR (ST BRI HT IYTNT 1 82

Options :

1. ¢ 3TORTE & THT YT DI TATHR G B! Slrd BT
2. % 3dd Bl UH S

3. % QU] Gl

4. % JIC WM DI gal fuamT

Question Number : 174 Question Id : 9767559189 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Which instrument is used to remove the gases from rumen?
Options :

1. ® Burdizzo

2. ¥ Trocar and cannula

3. % Artery forceps

4. ® Scalpel

Question Number : 174 Question Id : 9767559189 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TYH TR (38 T G fAp1am & fore v Iussur &1 IudiT fasar Sirdn 82
Options :

1. % gfda

2. ¢ TIHR 3R Hdl

3. % YT SR (SMELT HRUW)

4. % Zi (bl

Question Number : 175 Question Id : 9767559190 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the INCORRECT pair from the following.

Options :

1. # Scalpel- For sharp cutting of tissue

2. # Artery forceps- To hold the artery and prevent bleeding
3. ¥ Tissue forceps - To cut the tissue

4. % Needle holder - To hold needle for suturing

Question Number : 175 Question Id : 9767559190 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fafaRad o 9 Tad g™ & ugdH B

Options :
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2. % Y T (ST BRIW) - YU B Tha 3R ITTH1d B Ah & forw
3. ¢ Sad e (T RIW) - SHdd & Ha- & (o8
4. % AR (FISW BIER) - TIHT A & U J3 B UdH I

Question Number : 176 Question Id : 9767559191 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Caesarean section is indicated in which of the following situations?
Options :

1. ¥ Dystocia

2. % Tympany

3. % Intestinal obstruction

4. ® Constipation

Question Number : 176 Question Id : 9767559191 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g o 9 forw Rufa o fioifvaq w7 (Saem) &1 UanT fasar it 82
Options :

1. ¥ BicTuHa (fexeiimm)

2. % U Ho (feurh

3. % 3iF-{aRY

4. ® Dol

Question Number : 177 Question Id : 9767559192 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The study of female reproductive system is called:
Options :

1. ¥ gynaecology
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2. # andrology
3. # nephrology

4. # immunology

Question Number : 177 Question Id : 9767559192 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
il TS & & 3199 BT gl offl |-
Options :

1. ¥ RN fa (g-eprairsi)
2. % A (Tgiaroi)

3. % gad [aM (IS

4. % yfcRef fam (G=gAdrs)

Question Number : 178 Question Id : 9767559193 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is the primary sex organ of the female reproductive system?
Options :

1. # Vagina

2. ¥ Ovaries

3. # Cervix

4. ® Uterus

Question Number : 178 Question Id : 9767559193 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafifad # § B W UsHH o &1 587 o 82
Options :

1. % g

2. ¥ 3SR
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Question Number : 179 Question Id : 9767559194 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is a polyestrous animal?
Options :

1. # Bitch

2. % Wild animals

3. % Mare

4. ¥ Cow

Question Number : 179 Question Id : 9767559194 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

7 9 9 P T Tg-ASTTh 1 (Ul Teetd) U 82
Options :

1. % pfadr

2. % STl AR

3. % 9t

4. ¥ 1Y

Question Number : 180 Question Id : 9767559195 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the normal/usual gestation period of a bitch?
Options :

1. ¥ 62 days

2. % 30 days

3. # 90 days
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4. % 50 days

Question Number : 180 Question Id : 9767559195 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TS ST HT TG THBTA T 52

Options :
1.v 62 feA
2. % 30 &=
3. % 90 fgA
4. % 50fcq
Discipline5
Group Number : 10
Group Id : 976755235
Group Maximum Duration : 0
Group Minimum Duration : 120
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
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Section Id : 976755528
Section Number : 1
Section type : Online
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Number of Questions : 20

Number of Questions to be attempted : 20
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Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number : 1

Sub-Section Id : 976755635

Question Shuffling Allowed : Yes

Question Number : 181 Question Id : 9767559196 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which is the first stage of parturition?
Options :

1. # Delivery of newborn

2. % Dilation of cervix

3. # Involution of uterus

4. ® Expulsion of foetal membrane

Question Number : 181 Question Id : 9767559196 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Uq (Tdfcrsi) T Ugl BRI I 7 82
Options :

1. % ISId BT S

2. « YT UidT &1 g

3. % YR gdTacd

4. % U1 {3l &1 b=

Question Number : 182 Question Id : 9767559197 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which method of artificial insemination is used in cattle and buffalo?
Options :

1. # Vaginal speculum method
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2. ¥ Recto-vaginal method
3. ® Corkscrew method
4. # Vaginal method

Question Number : 182 Question Id : 9767559197 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Azt (MeF) 3R 99 § Fim muf @) fora ugfa &1 ot fasar srar g2
Options :

1. % gifydierep fafe

2. ¢ HARG-AIe fafd

3. % HETUT (Pldbe]) fafd

4. % e fafy

Question Number : 183 Question Id : 9767559198 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which method is used for the diagnosis of pregnancy in goats?
Options :

1. ® Rectal palpation

2. ® Cuboni test

3. ¥ Abdominal palpation

4. % A-Z test

Question Number : 183 Question Id : 9767559198 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

BT H THIaRIT Fa & fore fhg usfa o1 IuiT fobar S g2
Options :

1. % Ty URTR aed UegH)

2. % A ORIl
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4. % TS TI&0

Question Number : 184 Question Id : 9767559199 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The thawing temperature for frozen semen is:
Options :

1. % 20-22°C for 2 min

2. % 30-34°C for 50 sec

3. ¥ 37-40°C for 30 sec

4. % 50-52°C for 10 sec

Question Number : 184 Question Id : 9767559199 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

yxifad did & fore famre arem &
Options :

1. % 20-22°C, 2 fie d&

2. % 30-34°C, 50 Yhs dPb

3. ¢ 37-40°C, 30 Yh S db

4. ® 50-52°C, 10 Y s dPb

Question Number : 185 Question Id : 9767559200 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The T-shape uterus is present in which of the following species?
Options :

1. #® Cattle

2. ® Bitch

3. ¥ Mare
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4. % Camel

Question Number : 185 Question Id : 9767559200 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
forg gt & &-31HR &1 THRE 8T 82
Options :

1. % TR @Me)

2. % piaar

3. ¢ WISl

4. % el

Question Number : 186 Question Id : 9767559201 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The bunch-of-grapes-shaped ovary is present in a:
Options :

1. ¥ sow

2. ® mare

3. % sheep

4. % cow

Question Number : 186 Question Id : 9767559201 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
9 T O forad 3R & [ & 3MTPR T ST BIell 82

Options :

1. ¢ R
2. % gt
3. % 4g
4. % 1Y
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Question Number : 187 Question Id : 9767559202 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is the primary sex organ of the male reproductive system?
Options :

1. # Ovary

2. ¥ Testicles

3. #® Penis

4. # Epididymis

Question Number : 187 Question Id : 9767559202 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Y Yol i o1 T STad $IH-91 82
Options :

1. % 3fSRI

2. ¥ IEHIY

3. % fRiy

4. % 3ffquur (Tiufsfeiam)

Question Number : 188 Question Id : 9767559203 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The bulbourethral glands in males are called:
Options :

1. # Prostate glands

2. % Cowper’s glands

3. # Testicles

4. % Seminal vesicles

Question Number : 188 Question Id : 9767559203 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
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Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Toul H de Ty Ui (Feaigyyd i) fd wgl ot 82
Options :

1. % RV (YRQ) Ul

2. ¥ HIIWR U

3. % 3fEDHIY

4. % YDHIRA

Question Number : 189 Question Id : 9767559204 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The study of male reproductive system is called:
Options :

1. #® gynaecology

2. ¥ andrology

3. # nephrology

4. ® immunology

Question Number : 189 Question Id : 9767559204 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T3 Yo 3 & 30T &1 1 gl il 57
Options :

1. % RN =T (M-apTarelh)

2. A (@greeih

Question Number : 190 Question Id : 9767559205 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
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Correct Marks : 1 Wrong Marks : 0.25

Which of the following is called as the neck of the womb'?
Options :

1. ¥ Cervix

2. % Uterus

3. # Vagina

4. % Fallopian tubes

Question Number : 190 Question Id : 9767559205 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Prafefea 3 2 frd ol @ 7 weT o 2
Options :

1. ¢ YRR W

2. % YR

3. % g

4. % YRR AT

Question Number : 191 Question Id : 9767559206 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Silent heat is observed in which of the following?
Options :

1. ¥ Buffalo

2. % Cow

3. % Bitch

4. ¥ Mare

Question Number : 191 Question Id : 9767559206 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 & 3 fead wia T (Trsdie gie) <t ot 82
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Options :
1. ¥ U9
2. % T
3. % Ppfaar
4. % Gigt

Question Number : 192 Question Id : 9767559207 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

When an animal is made to fall down and its legs tied, then this is called:
Options :

1. ¥ casting

2. ® anaesthesia

3. % sedation

4. ® restraint

Question Number : 192 Question Id : 9767559207 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

STd T SHaR = IR STl § 3R 9 R §¢ 91d &, dl S8 gl offdl g
Options :

1. ¢ &Y (HIRET)

2. % TRIERYT (THRARF)

3. % INNfY gRY 2ia a1 (HIS2M)

4. % T (o)

Question Number : 193 Question Id : 9767559208 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The break in the continuity of a bone is called:
Options :
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2. # sinus
3. # wound
4. ¥ fracture

Question Number : 193 Question Id : 9767559208 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Y 1 ffa=edr § HIdT P T HT ST 82
Options :

1. % A1egor (ftheee)

2. % {iz1Y

3. % Y9

4. ¢ fqUSH BhaRR)

Question Number : 194 Question Id : 9767559209 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What time is preferred for the collection of semen?
Options :

1. ® Afternoon, after feeding

2. % At 3 in the afternoon

3. % Morning hours before feeding

4. ® At night, when there is no external noise

Question Number : 194 Question Id : 9767559209 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

& Turg & foru fopw wg o) urufiresdn &) ot 22
Options :

1. % U, IRT fR¥a™ (WIS & a1
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3.+ gag U, IR Raa™ (wifm) ¥ uga
4. % JdH, 9 DS T80 TR T8l 81

Question Number : 195 Question Id : 9767559210 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

How many times should milking be done?
Options :

1. ¥ Once a day

2. ¥ Twice or thrice a day with regular intervals
3. # Whenever time allows

4. % Once at midnight

Question Number : 195 Question Id : 9767559210 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

GURE O3HT &I foba-t IR gg-T A1fgw?
Options :

1. % I TH IR

2. ¢ THffa SfavTa & gy fea A rardia aR
3. % o9 W gay i

4. % Ub IR 1 A B!

Question Number : 196 Question Id : 9767559211 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which milking method should be avoided while milking?
Options :

1. ¥ Knuckling

2. % Full hand method
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3. % Stripping
4. % Milking machine

Question Number : 196 Question Id : 9767559211 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ged gud fory fafd § s =nfge?
Options :

1. ¢ &Y (AR T)

2. % gof g (P g9 fafd

3. % ferge (Reftm)

4. % fofch A=

Question Number : 197 Question Id : 9767559212 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The failure of testis to descend in the scrotal sac is called:
Options :

1. ® scrotal hernia

2. ® impotentia coeundi

3. #® free martin

4. ¥ cryptorchidism

Question Number : 197 Question Id : 9767559212 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Td g1 HI H JH0T IR H fId g1 8, Al 3 1 BT Al 82
Options :

1. % T (Bhica) gl

5 % SOIR N

3. % WA
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Question Number : 198 Question Id : 9767559213 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT a method of identification of a farm animal?
Options :

1. # Ear tagging

2. # Ear notching

3. ¥ Remembering its colour

4. ® Tattooing

Question Number : 198 Question Id : 9767559213 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad &  F Y ug &) uea &1 adieT T8t 82
Options :

1. % SER-cfi

2. % SIRAIRRT

3. ¥ JHHT T TG IS

4. % e

Question Number : 199 Question Id : 9767559214 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which is NOT the correct pair representing animal and its approximate gestation period?
Options :

1. ¥ Cattle - 300 days

2. % Buffalo - 310 days

3. % Sheep - 145 days

4. # Pig - 115 days
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Question Number : 199 Question Id : 9767559214 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 B ¥ HH THR 3R 3T AT THT Bt g2 arar I&t g 8 82
Options :

1. ¢ Ha=ft @eH) - 300 &

2. % U9 -310feT

3. % N8 - 145faq

4, % gIR - 115 feA

Question Number : 200 Question Id : 9767559215 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is the highest milk producing dairy cattle?
Options :

1. # Jersey

2. % Holstein Friesian

3. % Brown Swiss

4. ® Ayrshire

Question Number : 200 Question Id : 9767559215 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 & ¥ 1 Taife g7y IdTgh ST HAf 82
Options :

1. % of

2. ¢ Bl WTeforad

3. % S8 Raw

4. % ORI



